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Question Number : 1 Question Id : 60092911366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following series.

D4W, F16U, H64S,
Options :

1. = J128P

2. % K512P

3. # J640

4. ¥ J256Q

Question Number : 1 Question Id : 60092911366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faferRad siae & Jud ug I H |

D4W, F16U, H64S,
Options :

1. % J128P

2. % K512P

3. % J640

4.+ J256Q

Question Number : 2 Question Id : 60092911367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter series.

EVG, HSJ, KPM,
Options :

1. % MNP

2. ¥ NMP

3. ¥ MOP

4. % MNO

Question Number : 2 Question Id : 60092911367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad s1&R $@an § o Ug 1 B |

EVG, HSJ,KPM,
Options :

1. ¥ MNP

2. ¥ NMP

3. ¥ MOP




4. % MNO

Question Number : 3 Question Id : 60092911368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Father

2. % Brother

3. % Grandfather
4. ¥ Sister

Question Number : 3 Question Id : 60092911368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T fawmed & 9 & T (Y dRid & 90 § | 8TalD, Uh [Aded 31 19 &1 dve ol ¢ | 34 [dded &1 78 B oIl 37 I 3T 5|
Options :

1. % fuar

2. % U

3. % qlal

4. ¢ dgd

Question Number : 4 Question Id : 60092911369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # DDKL: JLNP

2. % UVWX : VXZB
3. ¥ EFGH : FHIL



4.+ QRST : SUWY

Question Number : 4 Question Id : 60092911369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e fawmed & 9 & T (Y dRid 3 90 § | 8TalD, Uh [Aded 31 19 &1 dve ol ¢ | 34 [dded &1 78 B oIl 3 I 3T 5|
Options :

1. = 1JKL: JLNP

2. % UVWX : VXZB

3. % EFGH : FHIL

4.+ QRST : SUWY

Question Number : 5 Question Id : 60092911370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Decent : Crude :: Durable : ?
Options :

1. % Stable

2. % Sturdy

3. ¥ Transitory

4. % Resistant

Question Number : 5 Question Id : 60092911370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAHed T 99 B S iR UG ¥ 34T UHR ¥ Yafdd g o JhR ¥ 3R UG Ugd Ug ¥ Haifed g

g ; AR fedrss : 2
Options :

1. % R®R




2. % ST
3.« YT
4, % yfcRueht

Question Number : 6 Question Id : 60092911371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

Biased : Prejudiced :: ?
Options :

1. ¥ Brief : Short

2. ®% Aware : Ignorant
3. % Smile : Frown

4. ¥ Tragic : Comic

Question Number : 6 Question Id : 60092911371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SISt BT Ig B S Uy H <1 718 SIS 9HH ISR § Tafdd ]
q&lﬂﬁ:%‘fﬂ%ﬂ::?

Options :

1. ¢ féed - g

2. % GMRsD : 3G
3. % T@IHH}I"T

4, % gUq gl

Question Number : 7 Question Id : 60092911372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a certain code language,



'mat tat pat lat' means 'the queue is long'
'fat zat hat cat' means 'it will take time'
'tat bat fat' means 'time is precious'
What is the code for "precious'?

Options :
1. % fat
2. % tat
3. ¥ bat
4. % hat

Question Number : 7 Question Id : 60092911372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS [MiEd ®is 1T H,

'mat tat pat lat' T 3{ of B 'the queue is long'
'fat zat hat cat' BT 37 % 'it will take time'
'tat bat fat' T 3  'time is precious'

'precious’ & ﬁ‘l'q HIS HT @Tﬂ?
Options :

1. # fat

2. # tat

3. % bat

4. # hat

Question Number : 8 Question Id : 60092911373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language if AVENGERS is coded as HIVTMVEZ, then what will SPIDERMAN be coded as?
Options :

1. ¥ MZNIWVRKH

2. ¥ MZNIVWRKH

3. ¥ MNZVIWRKH

4. ¥ HKRWVINZM



Question Number : 8 Question Id : 60092911373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAfd Fis yrwr & afe AVENGERS &) HIVIMVEZ & U H &if$d farar a1 ], 9 SPIDERMAN &1 9 HIfSd fsar Sram?
Options :

1. * MZNIWVRKH

2. % MZNIVWRKH

3. % MNZVIWRKH

4. ¥ HKRWVINZM

Question Number : 9 Question Id : 60092911374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Akash is standing in a queue in front of KFC to place his order .He realises that his place is 15th from the starting and 16th from the end of the
queue.How many people were actually standing in the queue?

Options :
1. % 32
2. % 3]
3.9 30
4. % 29

Question Number : 9 Question Id : 60092911374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S{THTRN TT 3T & & oIt KFC & ITHA SR & BT 3| I UdT Il g fob STHT I HAR & URH T 1597 3R 3fd T 1691 g [I”aa H
fohd AN HaR H Ts U2

Options :
1. % 32



2. % 31
3.9 30
4. % 29

Question Number : 10 Question Id : 60092911375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A delivery boy has to deliver six parcels each to a different house namely S, T, U, V, W and X. He has decided to visit the houses based on the
following condition,

1. He must visit S before T and W.

2. He must visit T before V.

3. The third parcel should be delivered to house U.

Which of the houses cannot definitely be the fourth one to receive the parcel?

Options :
1.*T
2.%V
3.% W
4. ¥ S

Question Number : 10 Question Id : 60092911375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T f&eliadl Xd TS B UdD SIAT-STTER S, T, U, V, W 3R X H T8 Uil & 8id 8 1 39 Fafefad fRufd & smuR R W= &1 R1
B BT T fehar g,

1.3Y T 3R W A U S BT GRT BT AT

2.3V Y UEA T BT GRT BT AT

3. TIRRT UIGd @R U H UgarT ST 9Mig |

g0 I B IT IR YR UTd - aTell DT TR a0 3 7Y 81 b1 82
Options :

L% T

2. 8%y

3. 8% W

4. ¥ S




Question Number : 11 Question Id : 60092911376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, a statement has been given, followed by two arguments numbered I and II.
You have to decide which of the arguments is a 'strong' argument and which is a 'weak' argument.

Statement: Should government officials accepting bribes be prisoned?
Arguments:

1. No. There may be circumstances which have forced them to take a bribe.
2. Yes. They should do their duty honestly.

Options :

1. # Only I is strong

2. % Only II is strong

3. % Both I and II are strong.
4. # Neither I nor II is strong.

Question Number : 11 Question Id : 60092911376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT T, TP Sy fean mar 5, o a1 gl adb 1 $iR 1 g e 5
3TYH! T BT 8 [ B AT dP AT I g 3R HIF AT 'GHOR db & |

HUT: T YT WHR HYd BRI A UBIRY] BT ofd H ST ST TMMGT?

o

1. g, Tt uRfRufcat 81wl § o1 I Ryd o & forg woreR fovan g1
2. 811 3% AT Hacd SHMGR] I FHHT =mgu|

Options :

1. % $Had [ Aolgd §

2. ¥ H4d 1 ASI9d §

3. % [ 3R 11 3 Aolg §

4. % F1ARTE 1999 §




Question Number : 12 Question Id : 60092911377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, a group of statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement: All corrupt businessmen were arrested. Zeeshan and Mohan were among those arrested.

Conclusions:

1. All businessmen are corrupt.

2. Mohan and Zeeshan are corrupt.

Options :

1. # Only I follows

2. % Only II follows

3. % Both I and II follows
4. # Neither I nor II follows

Question Number : 12 Question Id : 60092911377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy o, HU1 1 9Hg foar T €, e a1 &l fhy 1 3R 11 faU U § | 310! 39 S &1 I AT &, HAl 81 I8 ITHHIG: 1 a9
o gt 811 emues fAofa der R 6 o e st 7 § o 1, afe 018 @), fouw e st # & 3R 0r R B
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fysep:

1. gt gl us Bl

2. Aig 3R She wy 1
Options :

1. % Had [ SR Hal §

2. ¥ HAd I1 IR0 B §

3. % [ 3R 11 G AR a’d §
4. % F1 3R TE I SR BT §

Question Number : 13 Question Id : 60092911378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third number on the same basis as the second number is related to the first number.

17:27::258:7
Options :
1. ¥ 509
2. % 442
3. % 449
4. % 385

Question Number : 13 Question Id : 60092911378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdhed BT 997 B 1 ) T ¥ S UHR ¥ Hafdd g o IR O gust TReam ugal Ser § Hefid g |

17:27::258:7?
Options :
1. ¥ 509
2. % 442
3. % 449
4, % 385

Question Number : 14 Question Id : 60092911379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the following number series.

5,25, 155, 1050, 8400
Options :

1. % 25

2.% 5

3.9 155

4. % 8400



Question Number : 14 Question Id : 60092911379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad 9w sRad § 7Tad U J1d B3

5,25, 155, 1050, 8400
Options :

1. % 25

2.% 5

3.¥ 155

4. % 8400

Question Number : 15 Question Id : 60092911380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between smokers, non-smokers and engineers?
Options :

3. %



Q0O
. O

Question Number : 15 Question Id : 60092911380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoiad § @ I I 9 3R YHUH A aTall, YHUH - A arelt 3R Sl & e & Jaei bl Tad 3T g2iell 82

Options :



Question Number : 16 Question Id : 60092911381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the sum of the numbers which are common to two figures only.

Options :
1. % 20
2. % 25
3.% 14
4. 17

Question Number : 16 Question Id : 60092911381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 T3 BT T J1d B Sl hadl af 3l P o IH=I 8

Options :
1. % 20
2. % 25
3.% 14
4.9 17



Question Number : 17 Question Id : 60092911382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, there is a certain relationship in between figure A and B. Find the figure from the option which bears the same
relationship with figure C.

N Y | 2
MNA

A B c D
Options :

RIEIRIE




Question Number : 17 Question Id : 60092911382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiad ws o, sepfd A SiR B & o1 Uah (Af¥d ddy §1 fadweu & ¥ a8 3apfd I1d & St SA1H1A ¢ & 1Y JAH ey TGl 8 |

_l_@ ?

Options :

3.¢




Question Number : 18 Question Id : 60092911383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :




O

Question Number : 18 Question Id : 60092911383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e faedl 7 @ & T AT 9% I UM &1 gTiies, T [Ahed 370 9 &1 a8 81 8| 39 ey &1 T B oif 37 T 3(cT g |

Options :




O

Question Number : 19 Question Id : 60092911384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

M

Options :




3.¢

Question Number : 19 Question Id : 60092911384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe T gUUT I AT MN TR @7 T 7, Al DI Y IR 3Mpfa &t 718 3M1epfa &1 el ufafda g2

M

N
Options :




3.¢¥

SIS

Question Number : 20 Question Id : 60092911385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A paper is folded and punched as shown in the figure. Choose the figure which closely resembles the unfolded form of figure Z.

X i z
Options :



O o)

O O
Lvl O ©

@] (@] O

o O O

o o
O Q
x| O O
o O
Q

O Q
O
L%l O O

Question Number : 20 Question Id : 60092911385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 21 Question Id : 60092911386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

General Awareness
2

600929466

General Awareness

Which among the following is also known as the 'royal dance of Ladakh'?

Options :
1. # Rauf



2. ®* Kathi
3. % Shondol
4. % Huttari

Question Number : 21 Question Id : 60092911386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o 9 ford Tera & Mgt T & =0 § off SI1 o 82
Options :

1. # (3%

2. % PIdl

3. Qg

4. % gaRl

Question Number : 22 Question Id : 60092911387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following festival-state pair is incorrect?
Options :

1. # Onam-Kerala

2. # Bihula-Bihar

3. ¥ Wangala-Kerala

4. % Hornbill-Nagaland

Question Number : 22 Question Id : 60092911387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeiad 7 ¥ HH-dt AeRIs SiS! 7Tad 82
Options :

1. % 3{IUMH-Bd

2. % foga-fagR




3. ¢ GITA-RA
4. % gHIA-ATTGS

Question Number : 23 Question Id : 60092911388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the Chief Executive Officer (CEO) of the NITI Aayog as of 20th May 20207
Options :

1. % Narendra Modi

2. % G.R. Chintala

3. ¥ Amitabh Kant

4. #® Ajay Tyagi

Question Number : 23 Question Id : 60092911388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad & ¥ ®F 20 HS 2020 T NITI TN & T FRAGRT RIBRT g2
Options :

1. % T A

2. % Gfl. 3R, ferdrer

3. ¢ 3fHATH Bid

4. % 3o ARl

Question Number : 24 Question Id : 60092911389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As announced in the Budget 2021, crores has been allocated to MSME sector.

Options :

1. % Rs 14,800
2. % Rs 15,700
3. % Rs 16,100



4. # Rs 15,200

Question Number : 24 Question Id : 60092911389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021 & oI H GV & STIR, MSME &3 &1 RIS 3dfed fPuMu g |
Options :

1. # 14,800 ¥UJU

2. % 15,700 ¥4

3. % 16,100 ®UU

4. % 15,200 %4U

Question Number : 25 Question Id : 60092911390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is the largest national park in India?
Options :

1. # Kaziranga National Park

2. ® Papikonda National Park

3. % Hemis National Park

4. ® Keibul Lamjao National Park

Question Number : 25 Question Id : 60092911390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEfIRed # 9 SIF I HRA 31 Jod S81 AP I 52
Options :

1. % ISR AP FeH

2. % UMUeIeT AP IeM

3. ¥ B g S

4. % HYY A AT I




Question Number : 26 Question Id : 60092911391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

law states that black body radiation has different peaks of temperature at wavelengths that are inversely proportional to
temperatures.

Options :

1. ¥ Wien's

2. # Fourier's
3. ¥ Ampere's
4. ¥ Coulomb's

Question Number : 26 Question Id : 60092911391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a0 Hedl & for S fafeo # el W aueE & fafid RRaR 81d § S IRH a9 & JehHTaTd! gidl g

Options :
1. ¢ d4
2. % Y
3. % TRRR
4. % A

Question Number : 27 Question Id : 60092911392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Phawngpui is the highest mountain peak of which of the following states?
Options :

1. ¥ Mizoram

2. % Sikkim

3. # Meghalaya

4. ¥ Nagaland



Question Number : 27 Question Id : 60092911392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

His, FafaRad o 9 forg I &1 9w $d! gdd diel 82
Options :

1. ¢ foreiRe

2. # fYfepH

3. % HYe™

4. % AETICS

Question Number : 28 Question Id : 60092911393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is the longest canal of India?
Options :

1. # Ganges canal

2. % Narmada Canal

3. ¢ Indira Gandhi canal

4. # Anupgarh canal

Question Number : 28 Question Id : 60092911393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifed & 4 S & YRd @) Ja ol T8I 32

Options :

1. % T 8R

2. % THT TR

3. ¢ SR TMieh TR
4. % 3UTe Tex

Question Number : 29 Question Id : 60092911394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following pairs is correct?
Options :

1. ¥ Treaty of Madras - 1769

2. # Treaty of Amritsar - 1860

3. % Treaty of Salbai - 1785

4. # Treaty of Alinagar - 1751

Question Number : 29 Question Id : 60092911394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifed 9 o9 @ Sig! 98l o
Options :

1. ¢ HE &1 I - 1769

2. % AW DI Y - 1860

3. % IS Bi MY - 1785

4, % 3R &1 IfY - 1751

Question Number : 30 Question Id : 60092911395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
was the Governor General when the Dandi March incident took place.
Options :
1. * Lord Canning
2. % Lord Hastings
3. % Lord Irwin
4. % Lord Curzon

Question Number : 30 Question Id : 60092911395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



<8l A &1 e & Y HeRTSIUTd o |
Options :
1. % QTS b
2. % @re ofe™
3. ¢ @ls S(ad
4. % @IS Ho

Question Number : 31 Question Id : 60092911396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first session of Indian National Congress after Independence was held in in 1948.
Options :

1. # Meerut

2. % Jaipur

3. % Lahore

4. % Kanpur

Question Number : 31 Question Id : 60092911396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT &b STa HRA AP HIUH BT Ugal SHId= 1948 H H amaford fobar T o
Options :

1. % IS

2. ¥ SR

3. % AR

4. % PpIYR

Question Number : 32 Question Id : 60092911397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
was the first woman to hold the post of External Affairs Minister in India.



Options :

1. # Shashikala Kakodkar
2. % Sucheta Kripalani

3. % Sushma Swaraj

4. ¥ Indira Gandhi

Question Number : 32 Question Id : 60092911397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HRA H fae=T H3it &1 ue YT drell Uget Higar &
Options :

1. % YRIHA BIHISH
2. % A HUAH!
3. % A WRI

4. ¢ i Tieh

Question Number : 33 Question Id : 60092911398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the following authors with their books -

1. Origin of Species A. Jawaharlal Nehru

2. Alice in Wonderland B. George Bernard Shaw
3. Man and Superman C. Charles Darwin

4. Discovery of India D. Lewis Carroll

Options :

1. ¥ 1-C, 2-D, 3-B, 4-A
2. % 1-C,2-D, 3-A, 4-B
3. % 1-B, 2-C, 3-D, 4-A
4. % 1-B, 2-D, 3-A, 4-C

Question Number : 33 Question Id : 60092911398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad et &I 3! gad! § s a-

1. 3R 31T TR A, STagRard Ag%
2. Uferg 39 deciS B. SISl g-1e 2T

3. B9 U8 gOREA C. I1cd SIfdA

4. fema’t i Efear D. 9 xd
Options :

1.¥ 1-C, 2-D, 3-B, 4-A

2. % 1.C,2-D, 3-A, 4-B

3. % 1.B,2-C, 3-D, 4-A

4. % 1B, 2-D, 3-A, 4-C

Question Number : 34 Question Id : 60092911399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aahaar is a free meal distribution initiative introduced in in May 2021 with the motto of fighting hunger- feeding future.
Options :

1. # Rajasthan

2. % Uttar Pradesh

3. % Gujarat

4. ¥ Assam

Question Number : 34 Question Id : 60092911399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ST

2. % IR UG

3. % TSRId

4. AHYH




Question Number : 35 Question Id : 60092911400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Water Sports and Adventure Institute (WSAI) has been established by the Indo-Tibetan Border Police (ITBP) in
Options :

1. % Uttarakhand

2. # Arunachal Pradesh

3. % Sikkim

4. ¥ Himachal Pradesh

Question Number : 35 Question Id : 60092911400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd-forssd W gfera gy H TR WY TS TSR SHIeYe &1 RITTI 61 718 2|
Options :

1. ¥ RIS

2. % UM U

3. % fufepH

4. % fgHEQ UG

Question Number : 36 Question Id : 60092911401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The theme of Arctic Science Ministerial, held on 8th May 2021, was ‘Knowledge for Sustainable Arctic’.
Options :

1. # 2nd

2. % 3rd

3. ¥ 4th

4. % 5th

Question Number : 36 Question Id : 60092911401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % X7
2.9 3]
3. % 497
4. % 597

Question Number : 37 Question Id : 60092911402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Part of the Indian Constitution deals with Finance, Property, Contracts and Suits.
Options :

1. % X

2. ¥ XII

3. % XIII

4. % X1V

Question Number : 37 Question Id : 60092911402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRTT T BT UFT fom, Sufy, ey 3R gaveh ¥ defid |
Options :

1. % X

2. ¥ XII

3. % XIII

4. = XIV

Question Number : 38 Question Id : 60092911403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which among the following options is incorrect with respect to the feature of the Indian Constitution and the country from which it is borrowed?
Options :

1. ¥ Republic & ideals of liberty, equality & fraternity in the Preamble - France

2. # Joint Sitting of two houses of Parliament - Australia

3. ¥ Prerogative Writs - United States of America

4. ® Directive Principles of State Policy - Ireland

Question Number : 38 Question Id : 60092911403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TRATEHT H T 3R Wi, THAT 3R S & e - i

2. % e B &) el P W Yo - iR

3. ¢ TRITEIT Re- Sgad sy AR

4. % I & Hifd FeRe Rigid - SRS

Question Number : 39 Question Id : 60092911404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first Men's Hockey World Cup 1971 was held in
Options :

1. # Russia

2. # France

3. % Spain

4. ® India

Question Number : 39 Question Id : 60092911404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ugdl GV gid] fay U 1971 T SrANfoTe fobam T T |



Options :
1. %34
2. % Y
3. ¢ WA
4, % HRd

Question Number : 40 Question Id : 60092911405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following won back-to-back men's high jump titles in the Big 12 Outdoor Track and Field Championships 2021 in Manhattan,
United States of America?

Options :

1. # Sydney Conley

2. % Austin Hoag

3. # Anastasiya Muchkayev
4. ¥ Tejaswini Shankar

Question Number : 40 Question Id : 60092911405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fye- Bia

2. % IR GIWT

3. % SRR Qahrd

4. ARG YR
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Question Number : 41 Question Id : 60092911406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ashish, Narendra, and Ved are running on a circular track having a circumference of 40 km, and the starting point is same for all of them. Their
speeds are 4 km/hr, 8 km/hr, and 6 km/hr respectively. Find after how much time (in hours) they will meet each other.

Options :

1. % 18 hours
2. % 20 hours
3. % 25 hours
4. % 12 hours



Question Number : 41 Question Id : 60092911406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 18%¢

2. ¥ 20%C

3. % 25€C

4. % 129C

Question Number : 42 Question Id : 60092911407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are four hobby clubs in a college viz., painting, photography, chess and dancing. The painting group meets every fifth day, the photography
group meets every sixth day, the chess group meets every twelfth day and the dancing group meets every fifteenth day. How many times do all
the four groups meet on the same day with in 240 days?

Options :
1. % 120
2. % 12
3.%5
4. ¥ 4

Question Number : 42 Question Id : 60092911407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 120

2. % 12




3.%5
4.9 4

Question Number : 43 Question Id : 60092911408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boy buys a diamond ring for his wife. If a diamond ring is marked at Rs. 3,20,000 at three successive discounts of 25%, 20% and x%
respectively and paid after getting three successive discounts at Rs. 1,92,000. Find the value of x.

Options :

1. * 1.50 percent
2. % 2 percent

3. % 3 percent

4. ¥ 0 percent

Question Number : 43 Question Id : 60092911408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS TSP 3T Uil & forg ER Bt SISt WRiedn g1 afe Uep ER BT SIS HHR: 25%, 20% 3R x% B fF HiHe Fel W 3,20,000 TUT I
fafed € SiR i HHS Fe U B & 918 1,92,000 FUT YA BT x BT T J1d B
Options :

1. % 1.50 gfa=rd
2. % 2 gfa=rd
3. % 3 gfavrg
4. % o gfa=rd

Question Number : 44 Question Id : 60092911409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anshuman's income increases by 20% in the first year and decreases by 10% in the second year and also increases by 25% in the third year and
decreases by 12.5% in the fourth year, if Anshuman's income after four years is Rs. 37,800, then find the actual income of Anshuman.

Options :
1. ® Rs. 20,000



2. % Rs. 25,000
3. # Rs. 24,000
4. ¥ Rs. 32,000

Question Number : 44 Question Id : 60092911409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 20,000 ¥UU

2. % 25,000 ¥UU

3. % 24,000 Uy

4.+ 32,000 34U

Question Number : 45 Question Id : 60092911410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Alisha went to the market to buy groceries. She has some money with her, 20 Percent of which she used to buy rice. 25 Percent of the remaining
money is spent on cooking oils. If she is left with Rs. 600, then find out total amount of money that Alisha had.

Options :
1. % 800
2. % 1200
3. % 900
4. 1000

Question Number : 45 Question Id : 60092911410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. * 800
2. % 1200
3. % 900
4. % 1000

Question Number : 46 Question Id : 60092911411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hari sold his goods for Rs. 1035 at 28.57 Percent profit. Find the price at which he must sell his goods so that he earns 15 Percent profit.
Options :

1. # Rs. 900.25

2. # Rs. 850.25

3. ¥ Rs. 925.75

4. % Rs. 875.75

Question Number : 46 Question Id : 60092911411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 900.25%4UQ
2. % 850.25%UU¢
3.9 925.75%U0Q
4, % 875.75%UU

Question Number : 47 Question Id : 60092911412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X and Y started a business by investing in the ratio of 3 : 5. After 4 months from the start of the business, Z joins with an amount equal to (1/4)th
of X and Y. Find the total profit at the end of the year, if Y got Rs. 22,500 as his share.

Options :



1. * Rs. 40,000
2. ¥ Rs. 42,000
3. ¥ Rs. 32000
4. % Rs. 48000

Question Number : 47 Question Id : 60092911412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 40,000 ¥UY

2. ¥ 42,000 3T

3. % 32000 ¥UT

4. % 48000 ¥UT

Question Number : 48 Question Id : 60092911413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A family consists of a father, a mother, a son, and a daughter. The ratio of their ages is 7 : 6 : 2 : 3 and the present age of the father is 49 years.
What will be the average age of family after 3 years?

Options :

1. # 35 year
2. % 36 year
3. ¥ 34.5 year
4. % 35.5 year

Question Number : 48 Question Id : 60092911413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3535
2. % 36TY
3. 34534

4. % 3559Y

Question Number : 49 Question Id : 60092911414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arjun and Prateek have toffees with them in the ratio 7 : 9. If Arjun is given 32 more toffees, the ratio of the number of toffees with them gets
reversed. How many toffees would have been given to Arjun to make the ratio 10 : 7?

Options :
1. ¥ 41
2. % 43
3. % 46
4. % 47

Question Number : 49 Question Id : 60092911414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 41

2. % 43

3. % 46

4. % 47

Question Number : 50 Question Id : 60092911415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
At a certain sum of money with the interest rate of 7 Percent for 3 years the simple interest is Rs. 7455. Find the compound interest of 2 years at



the same sum when the rate of interest is 4 Percent.
Options :

1. # Rs. 2869.9

2. ¥ Rs. 2896.8

3. % Rs. 3896.8

4. % Rs. 4869.8

Question Number : 50 Question Id : 60092911415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 2869.9 ¥UY

2. ¥ 2896.8 YT

3. % 3896.8 ¥UT

4. % 4869.8 UY

Question Number : 51 Question Id : 60092911416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Himanshu borrowed a sum of Rs. 40,000 at 15 Percent per annum compounded annually and he returned Rs. 60,835 to the bank. Find the time
period for which he borrowed the sum.

Options :

1. ¥ 3 years
2. # 5years
3. % 2 vyears
4. # 1 year

Question Number : 51 Question Id : 60092911416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
.¥ 335
2. % 599
3. %279y
4. % 199

Question Number : 52 Question Id : 60092911417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can beat B by 20 m in a 200 m race. B can beat C by 2 seconds for the same distance. If C takes 26(4/9) seconds to complete the race, what is
the time taken by A to complete the race? (in seconds)

Options :
1. % 21
2. % 24
3. %23
4. 22

Question Number : 52 Question Id : 60092911417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 21
2. % 24
3.% 23
4. ¥ 22

Question Number : 53 Question Id : 60092911418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The ratio of the speeds of the boat in still water to the speed of the stream is 9 : 1 and the boat can travel 20 km downstream in 24 minutes. Then,
how much time will the boat take to cover 50 km upstream?

Options :

1. # 72 min
2. % 75 min
3. % 45 min
4. % 30 min

Question Number : 53 Question Id : 60092911418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 54 Question Id : 60092911419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A tap, that can fill a tank in 50 minutes, is opened. After the tank is half full, it is closed and another tap that drains the half-filled tank in 37.5
minutes is opened. If starting from a half-full tank, both taps were opened, how many minutes would it take to fill the tank?

Options :

1. # 60 min
2. # 65 min
3. % 75 min
4. #* 80 min

Question Number : 54 Question Id : 60092911419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS 4, S <P DI 50 T H UR Thell 8, [l STt g1 TH1 b T HR O P 91G, 34 ¢ PR (41 o1l § AR GERT A ot 3M7e - g3
@%ﬁﬁﬁﬂ?ﬁ@ﬁWEBﬁ@aﬁW%Iﬁwwﬁﬁﬁﬁwﬁﬁﬁﬁ@amwﬁéﬁﬁﬂﬁw
9

Options :

1. % 60 fie

2. % 65 fiFe

3. ¢ 75 fiFe

4. % 0 fie

Question Number : 55 Question Id : 60092911420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of time taken in completing a work by a girl and boy is 4 : 3. The boy and the girl can complete the work together in 60 days. In how
many days can the girl complete one-fifth piece of the work alone?

Options :

1. ¥ 28 days
2. * 14 days
3. * 35 days
4. = 30 days

Question Number : 55 Question Id : 60092911420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. 28fea

2. % 14189

3. % 3529

4. % 30fea




Question Number : 56 Question Id : 60092911421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The volume of two spheres A and B are in the ratio 1331:343. If the sum of radius A and B is 36cm, then find the surface area of B.
Options :

1. # 2500 sq. cm

2. % 2546 sq. cm

3. % 2646 sq. cm

4. ¥ 2464 sq. cm

Question Number : 56 Question Id : 60092911421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QI T A 3R B BT 3T 1331:343 & U | o | A 4T A 3R B BT AN 36 cm 8, 1 B H1 JE 1T &A% A1 DR |
Options :

1. # 2500 sq. cm

2. # 2546 sq. cm

3. % 2646 sq. cm

4. ¥ 2464 sq. cm

Question Number : 57 Question Id : 60092911422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cone having radius 20 cm and slant height 29 cm is converted into a cylinder having equal volume as the cone, find out the height of the
cylinder if the radius of the cylinder is 50% smaller than the radius of the cone.

Options :

1. # 23 cm
2.9 28 cm
3. % 33cm
4. % 36 cm



Question Number : 57 Question Id : 60092911422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # 23 cm
2. ¥ 28 cm
3. % 33 cm
4. % 36 cm

Question Number : 58 Question Id : 60092911423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following table gives the information about the number of employees in five departments of a company in six different years. The total
number of employees in corporate department is what percent of the total number of employees in marketing department over the given period?

Department (Number of Employees)
Year
Production Marketing Corporate Accounts RE&D

2014 150 23 a0 45 73
2015 225 40 45 62 70
2016 450 4] - 30 50 73
2017 470 73 32 105 70
2018 500 ] 35 132 74
20139 505 75 40 130 75

Options :

1. # 68.4 Percent
2. ¥ 64.8 Percent
3. ® 65.6 Percent
4. % 66.5 Percent

Question Number : 58 Question Id : 60092911423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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2014 150 23 50 43 73
2015 225 &0 45 B2 70
2016 450 B3 30 20 73
2017 470 T3 2 105 70
018 300 -] EL 132 74
2019 505 75 40 130 75
Options :
1. % 68.4

2. ¢ 64.8 Ufa=Id
3. % 65.6 Ofd2rd
4. % 66.5 Jfaerd

Question Number : 59 Question Id : 60092911424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph gives information about numbers of calls that gets converted by Coaching students for different MBA colleges for 6 consecutive

years.
What was the percentage increase in number of call converts of the MBA institutes for 2013 over 2012?
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Options :

1. % 25 percent

2. ¥ 28.57 percent
3. #¥ 33.33 percent
4. % 30 percent

Question Number : 59 Question Id : 60092911424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 25 yfawrd
2. 28.57 Ufaerd
3. % 3333 gfaerd



4. % 30 Yfaerd

Question Number : 60 Question Id : 60092911425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the line graph data is given about the cost price and marked price of some different electronic goods. Study the data carefully and answer the
related question. What is the difference between the profit on mobile and cooler if both are sold at 25% Discount?

—=—Cost Price —=— Marked Price
£ w0
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© 700 - P
450
E 500 - B 400 I~
5 900 - ——
£ 300 4 50
= —
8 200 4 e
:-'l; 100 -
]
Mixture ovD Musie Sys tern Maobile Cooler
Electronic goods
Options :
1. ¥ Rs.25
2. ¥ Rs. 50
3. #¥ Rs. 75
4. # Rs. 100

Question Number : 60 Question Id : 60092911425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 259200
2. ¥ 50200
3. % 75%0U
4. % 100 >U¢
General English

Group Number : 4
Group Id : 600929468
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General English



Section Id : 600929623

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929747
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 60092911426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

While the Everest has increased in popularity over/ the last 60 years, Nepalis have continued to/ bear much of the risk involved in summiting.
Options :

1. ¥ While the Everest has increased in popularity over

2. # the last 60 years, Nepalis have continued to

3. # bear much of the risk involved in summiting.

4. % No error

Question Number : 61 Question Id : 60092911426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

While the Everest has increased in popularity over/ the last 60 years, Nepalis have continued to/ bear much of the risk involved in summiting.
Options :

1. ¥ While the Everest has increased in popularity over



2. # the last 60 years, Nepalis have continued to
3. % bear much of the risk involved in summiting.

4. % No error

Question Number : 62 Question Id : 60092911427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

As of today, the nature/ and environmental movements/ have been able to prevent this.
Options :

1. ¥ As of today, the nature

2. # and environmental movements

3. # have been able to prevent this.

4. % No error

Question Number : 62 Question Id : 60092911427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

As of today, the nature/ and environmental movements/ have been able to prevent this.
Options :

1. ¥ As of today, the nature

2. % and environmental movements

3. % have been able to prevent this.

4. % No error

Question Number : 63 Question Id : 60092911428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

English in Nepal is unique in that it was (introduced neither by colonization or by the missionaries).
Options :

1. # introduced either by colonization or by the missionaries

2. # introduced either by colonization nor by the missionaries

3. ¥ introduced neither by colonization nor by the missionaries

4. # No correction required

Question Number : 63 Question Id : 60092911428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

English in Nepal is unique in that it was (introduced neither by colonization or by the missionaries).
Options :

1. ® introduced either by colonization or by the missionaries

2. ® introduced either by colonization nor by the missionaries

3. ¥ introduced neither by colonization nor by the missionaries

4. ® No correction required

Question Number : 64 Question Id : 60092911429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(But then, many a man didn't) want children until he had them.
Options :

1. # But then, many a men don't

2. # But then, many a men doesn't

3. # But then, many men doesn't



4. ¥ No correction required

Question Number : 64 Question Id : 60092911429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(But then, many a man didn't) want children until he had them.
Options :

1. ¥ But then, many a men don't

2. % But then, many a men doesn't

3. ¥ But then, many men doesn't

4. ¥ No correction required

Question Number : 65 Question Id : 60092911430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

The Buddha, on the other hand, obtained in his 35th year, under the Bo tree, after he had abandoned penance.
Options :

1. ¥ nirvana
2. % karma
3. # arcana

4. % sienna

Question Number : 65 Question Id : 60092911430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

The Buddha, on the other hand, obtained in his 35th year, under the Bo tree, after he had abandoned penance.
Options :




1. ¥ nirvana
2. % karma
3. # arcana

4. % sienna

Question Number : 66 Question Id : 60092911431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

It was tempting to him in front of everyone, but that would be childish.

Options :

1. # acquittance
2. ¥ denounce

3. % transience

4. % ascendance

Question Number : 66 Question Id : 60092911431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

It was tempting to him in front of everyone, but that would be childish.

Options :

1. # acquittance
2. ¥ denounce

3. % transience

4. % ascendance

Question Number : 67 Question Id : 60092911432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a



paragraph.

In the ten years since its publication in 1988, Stephen Hawking's classic work has become a landmark volume in scientific writing, with more
than nine million copies in forty languages sold worldwide.

P. These observations have confirmed many of Professor Hawking's theoretical predictions in the first edition of his book, including the recent
discoveries of the Cosmic Background Explorer satellite (COBE), which probed back in time to within 300,000 years of the universe's beginning
and revealed wrinkles in the fabric of space-time that he had projected.

Q. But the intervening years have seen extraordinary advances in the technology of observing both the micro- and the macrocosmic worlds.
R. That edition was on the cutting edge of what was then known about the origins and nature of the universe.
S. Eager to bring to his original text the new knowledge revealed by these observations, as well as his own recent research.

Professor Hawking has prepared a new introduction to the book, written an entirely new chapter on wormholes and time travel, and updated the
chapters throughout.

Options :

1. ¥ SRQP
2. % PQRS
3. ¥ RQPS
4. % SPQR

Question Number : 67 Question Id : 60092911432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

In the ten years since its publication in 1988, Stephen Hawking's classic work has become a landmark volume in scientific writing, with more
than nine million copies in forty languages sold worldwide.

P. These observations have confirmed many of Professor Hawking's theoretical predictions in the first edition of his book, including the recent
discoveries of the Cosmic Background Explorer satellite (COBE), which probed back in time to within 300,000 years of the universe's beginning

and revealed wrinkles in the fabric of space-time that he had projected.

Q. But the intervening years have seen extraordinary advances in the technology of observing both the micro- and the macrocosmic worlds.



R. That edition was on the cutting edge of what was then known about the origins and nature of the universe.
S. Eager to bring to his original text the new knowledge revealed by these observations, as well as his own recent research.

Professor Hawking has prepared a new introduction to the book, written an entirely new chapter on wormholes and time travel, and updated the
chapters throughout.

Options :

1. # SRQP
2. % PQRS
3. ¥ RQPS
4. % SPQR

Question Number : 68 Question Id : 60092911433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Jeopardize
Options :

1. # Conjure

2. % Compromise
3. % Imperil

4. ¥ Protect

Question Number : 68 Question Id : 60092911433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Jeopardize
Options :

1. # Conjure

2. % Compromise

3. % Imperil



4. ¥ Protect

Question Number : 69 Question Id : 60092911434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Hamper
Options :

1. * Hinder
2. % Shackle
3. * Bridle
4, ¥ Assist

Question Number : 69 Question Id : 60092911434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Hamper
Options :

1. # Hinder
2. ® Shackle
3. ® Bridle
4. ¥ Assist

Question Number : 70 Question Id : 60092911435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Cavilier

2. % Caviliar



3. #* Caviler

4. % Cavalier

Question Number : 70 Question Id : 60092911435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Cavilier

2. # Caviliar

3. % Caviler

4. % Cavalier

Question Number : 71 Question Id : 60092911436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Insouciant

2. # Insoiciant

3. # Insociant

4. % Insocant

Question Number : 71 Question Id : 60092911436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Insouciant

2. # Insoiciant

3. % Insociant

4, % Insocant



Question Number : 72 Question Id : 60092911437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Off The Hook

Options :

1. ¥ No longer have to deal with a tough situation

2. # Something said in confidence that the one speaking doesn't want attributed to him/her.
3. % Getting a bad start on a relationship or task.

4. % When multiple people all agree on the same thing.

Question Number : 72 Question Id : 60092911437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Off The Hook

Options :

1. ¥ No longer have to deal with a tough situation

2. # Something said in confidence that the one speaking doesn't want attributed to him/her.
3. # Getting a bad start on a relationship or task.

4. % When multiple people all agree on the same thing.

Question Number : 73 Question Id : 60092911438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Smell Something Fishy
Options :

1. ® To detect someone in the group is betraying the others.



2. % The exact likeness or kind.
3. ¥ Someone who is left-handed

4. ¥ Detecting that something isn't right and there might be a reason for it.

Question Number : 73 Question Id : 60092911438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Smell Something Fishy

Options :

1. # To detect someone in the group is betraying the others.
2. % The exact likeness or kind.

3. # Someone who is left-handed

4. ¥ Detecting that something isn't right and there might be a reason for it.

Question Number : 74 Question Id : 60092911439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Groups of separate companies that agree to increase profits by fixing prices and
not competing with each other

Options :

1. ® Convoy

2. ¥ Cartel

3. # Caravan

4. ® Confederation

Question Number : 74 Question Id : 60092911439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below



Groups of separate companies that agree to increase profits by fixing prices and
not competing with each other

Options :

1. # Convoy
2. ¥ Cartel
3. % Caravan

4. % Confederation

Question Number : 75 Question Id : 60092911440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Involving a chance that something bad or unpleasant could happen
Options :

1. # Bastion

2. % Brickbats

3. % Dicey

4. % Blitzkrieg

Question Number : 75 Question Id : 60092911440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Involving a chance that something bad or unpleasant could happen

Options :

1. % Bastion

2. ® Brickbats

3. % Dicey

4. % Blitzkrieg

Sub-Section Number : 2



Sub-Section Id : 600929748
Question Shuffling Allowed : Yes

Question Id : 60092911441 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

My cell phone rings again. It is futile to ignore it anymore; Valerie is persistent. When Valerie wants something, she will continue to bedevil me
until I acquiesce.

“Hello,” I answer.

“State Fair, Bobbie?” she asks in her singsong voice. “When are we heading out? Only two more days left!”

I abhor the State Fair. The boisterous crowds, the insanely long lines and the impossibility of finding a clean restroom all combine to make this
an event that I dread.

For Valerie, my best friend since the angst of middle school, the State Fair is a sign that divine powers really do exist.

“Really, Bobbie, where else can you pet a cow, ride a horse, fall ten stories, see the world’s smallest person and eat fried macaroni and cheese?”
Valerie asks gleefully.

“Hell?” I guess. The fried food at the State Fair is a gastronomical nightmare on its own. I once tried a fried pickle at the fair and was sick to my
stomach for hours. And a fried donut hamburger with bacon, cheese AND a greasy egg? How could that not be deleterious?

I have not seen Valerie for a good month; our schedules are both so hectic. My hatred of the State Fair becomes inconsequential compared to my
desire to hang with Val.

Alas, I ignore my anti-fair bias for the umpteenth year.
“Pick me up at noon,” I say and hang up the phone.

Sub questions

Question Number : 76 Question Id : 60092911442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How does Booby describe her relationship with Valerie?
Options :

1. * Friend

2. % Sister

3. ¥ Best friend

4. % Cousin



Question Number : 77 Question Id : 60092911443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What conclusion does Bobby reach at the end?

Options :

1. # Bobby decides to meet Valerie next month after the State Fair.

2. % Bobby disagrees to go to the State Fair with Valerie.

3. % They agree to go somewhere else because Bobby isn't comfortable.
4. ¥ Bobby agrees to go to the State Fair.

Question Number : 78 Question Id : 60092911444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How does Bobby describe the crowds of the state fair?
Options :

1. # Creative and chattering

2. ¥ Noisy, energetic and cheerful

3. # Unruly, uncomfortable and long

4. # Disarrayed and uncontrollable

Question Number : 79 Question Id : 60092911445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following options is incorrect? Choose one option.

Options :

1. # Bobby and Valerie had been best friends since middle school.

2. # The food at the State Fair was deleterious.

3. # The State Fair featured petting cows, riding horses, falling 10 stories and seeing the world's smallest man eating fried macaroni and cheese.
4. ¥ Valerie hated the State Fair.

Question Number : 80 Question Id : 60092911446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What does the line "The fried food at the State Fair is a gastronomical nightmare on its own." mean?
Options :

1. ® The rides at the State Fair are a nightmare.

2. % The food at the State Fair is delicious.

3. ¥ The Food at the State Fair was harmful for the stomach.

4. # The State Fair is a nightmare.

Question Id : 60092911441 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

My cell phone rings again. It is futile to ignore it anymore; Valerie is persistent. When Valerie wants something, she will continue to bedevil me
until I acquiesce.

“Hello,” I answer.

“State Fair, Bobbie?” she asks in her singsong voice. “When are we heading out? Only two more days left
I abhor the State Fair. The boisterous crowds, the insanely long lines and the impossibility of finding a clean restroom all combine to make this
an event that | dread.

For Valerie, my best friend since the angst of middle school, the State Fair is a sign that divine powers really do exist.

“Really, Bobbie, where else can you pet a cow, ride a horse, fall ten stories, see the world’s smallest person and eat fried macaroni and cheese?”
Valerie asks gleefully.

“Hell?” I guess. The fried food at the State Fair is a gastronomical nightmare on its own. I once tried a fried pickle at the fair and was sick to my
stomach for hours. And a fried donut hamburger with bacon, cheese AND a greasy egg? How could that not be deleterious?

I have not seen Valerie for a good month; our schedules are both so hectic. My hatred of the State Fair becomes inconsequential compared to my
desire to hang with Val.

Alas, I ignore my anti-fair bias for the umpteenth year.

“Pick me up at noon,” I say and hang up the phone.

"3

Sub questions

Question Number : 76 Question Id : 60092911442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How does Booby describe her relationship with Valerie?
Options :

1. % Friend



2. % Sister
3. ¥ Best friend
4. ® Cousin

Question Number : 77 Question Id : 60092911443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What conclusion does Bobby reach at the end?

Options :

1. # Bobby decides to meet Valerie next month after the State Fair.

2. #% Bobby disagrees to go to the State Fair with Valerie.

3. % They agree to go somewhere else because Bobby isn't comfortable.
4. ¥ Bobby agrees to go to the State Fair.

Question Number : 78 Question Id : 60092911444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How does Bobby describe the crowds of the state fair?
Options :

1. # Creative and chattering

2. ¥ Noisy, energetic and cheerful

3. # Unruly, uncomfortable and long

4. # Disarrayed and uncontrollable

Question Number : 79 Question Id : 60092911445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following options is incorrect? Choose one option.

Options :

1. ¥ Bobby and Valerie had been best friends since middle school.

2. # The food at the State Fair was deleterious.

3. % The State Fair featured petting cows, riding horses, falling 10 stories and seeing the world's smallest man eating fried macaroni and cheese.
4. ¥ Valerie hated the State Fair.



Question Number : 80 Question Id : 60092911446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the line "The fried food at the State Fair is a gastronomical nightmare on its own." mean?
Options :

1. # The rides at the State Fair are a nightmare.

2. # The food at the State Fair is delicious.

3. % The Food at the State Fair was harmful for the stomach.

4. # The State Fair is a nightmare.
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Question Number : 81 Question Id : 60092911447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 39 fashey &1 9u 3 off AT U Y - fowde Wsg & Il IfY s fasweu 3 |

Tl + 3T
Options :

1. % TENTH
2. % AdIMH
3. ¢ AH
4. % =IfGH

Question Number : 81 Question Id : 60092911447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & q 39 fawed &1 9 o3 o AT 7T TfY - fade Tsg & T} Wi w1 fasweu 7|
TGT + 3MTH

Options :

1. % TENH

2. % 9IH

3. ¥ AH

4. % FifcH

Question Number : 82 Question Id : 60092911448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & 9§ 39 fashey &1 9g 3 off AT U I Weg & el OfY- fawde fawea 7|




%9
Options :

. % 9¥+g
2. % QY +1Ud
3. % QYT+ Uq
4. v YT +Ud

Question Number : 82 Question Id : 60092911448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 39 fdshe &1 9u 3 off AT U I Weg & el OfY- fawde fasea 7|
g

Options :

1. % gd+q
2. % Y +1Ud
3. % YT+ g
4. ¥ Y1+ 1Ud

Question Number : 83 Question Id : 60092911449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faseal & q 3 fared &1 999 o3 ol drad Teg &1 Te! fdbed § |
Options :

1. ¢ Rl

2. % A

3. ® 1cld

4. % ghlq

Question Number : 83 Question Id : 60092911449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

79 faweal & Q 3 fahed &1 999 o3 ol drad Teg &1 Te! fdbed & |
Options :

1. ¢ R

2. % A

3. % Tdq

4. % THH

Question Number : 84 Question Id : 60092911450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 fased! o 9 39 faded &1 997 & Sl ToiH Xeg o1 5! fadhed § |
Options :

1. % JHD

2. % Wi

3. ¢ IY

4. % g

Question Number : 84 Question Id : 60092911450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fashed &1 907 B3 off I Te &1 el [dheu g |
Options :

1. # JHH

2. % Hifcrh

3. 3TN

4. % dig

Question Number : 85 Question Id : 60092911451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

79 fawmedl § ¥ 39 fawed &1 98 &< Sl SR ' ¥ 81 U ek &1 9g! [ddhed g |
Options :

1. ¢ HYPR

2. % YoIdX

3. % FHP

4. % SEHR

Question Number : 85 Question Id : 60092911451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol & @ 39 fdehey &1 907 B ol &R ' T §9 Ty Weg, o1 gl f[apeu g |
Options :

1. ¢ AYDR

2. % Yol

3. % SHDHT

4. % §BIX

Question Number : 86 Question Id : 60092911452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faemedl § 9 U fawed T T &L ol W' T T ST ek &1 gl [ddhed g |
Options :

1. ® PR

2. ¢ OIS

3. % {id

4. % Jhddl

Question Number : 86 Question Id : 60092911452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



77 fasedl ¥ Q4 39 fodred ST g B off ' TR I §9 U e &1 el fdbed 1 |
Options :

1. # H[hR

2. % A

3. % g}

4. * o ddl

Question Number : 87 Question Id : 60092911453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawmedl & ¥ 39 fadmed &1 9a- &< il fAT T e - & 31 &1 gl fadwed § |
Rt - e

Options :

3. % ggol, 331 Ifad

4. ¢ 3t 3

Question Number : 87 Question Id : 60092911453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famed! o 9 39 faded &1 997 & Sl faU U Xeg g & 372 &1 Te! fddhed 5|
e - et

Options :

1. % Hiudel

2. % A 3BT ek
3. % g, 3wl 3o
4. ¢ iU, 3131 Ifad



Question Number : 88 Question Id : 60092911454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 3 fdshe &1 98 3 off AT 7T aremiey & fole U Rieg &1 el fdweu 3 |
ESEICIER E G

Options :

1. & AHTdRF
2. % 3o}

3. % HHY

4. % ST

Question Number : 88 Question Id : 60092911454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fdshey &1 9u &3 off 3T T areiey & fofe Ueh eg &1 98! fdweu 3 |
ESEICIERE G

Options :

1. & 3ITdRF
2. % 3o}

3. % 3HX

4. % SFFTH

Question Number : 89 Question Id : 60092911455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & Q 39 fdshed &1 98- B3 off faU U 9100 & TR & U &1 et fabed 7 |
YA R ararg x|

Options :

1. % Jbhadrad ar




2. % go[dlddh dI
3. % gcgardd

4. % fqYTIaras

Question Number : 89 Question Id : 60092911455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fasweal § O 39 faseu o1 g4 &3 SN fou 7N a1 & TR & U &1 Tal fabe 7 |
YA g ararg ax |

Options :

1. % Hhddrad dred
2. ¥ FIAIdh did]
3. % ddgadd

4. ® qYEaEI®

Question Number : 90 Question Id : 60092911456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faseal & § 39 fasred &1 99 &3 off AT 7T a199 & 1d & Ve &1 8! f[dbed § |
forcToht <11 38 17 |

Options :

1. % 3(qul gfAE &1
2. % 3quf Ydora

3. % Y Yid=d HId
4. ST gdIE H1d

Question Number : 90 Question Id : 60092911456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fasmeal § O 39 faseu o1 794 &3 SN fou TN 9190 & &Td & We &1 Ua! fabeu g |




forqoft o7 3 81 |
Options :

1. % 3qUf g BId
2. % Ul Yd@Ta

3. % g Yiasd wrd
4. ¢ T gdHE HT1d

Question Number : 91 Question Id : 60092911457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 3 fadhe &1 9u 3 off AT U aT1e & HTd & Ve &1 el fahed g |

MG ol N1 7 |
Options :

1. % 3(qul gfHE BT
2. % G Yid=q BT
3. ¥ U Hidwdq dIad
4. % 3quf Ydprd

Question Number : 91 Question Id : 60092911457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & q 39 fare &1 999 &3 o AT 7T a199 & 1d & N BT I8! f[dbed § |

MG bl N1 8 |
Options :

1. # 3qUf g BId
2. % G Yid®q HTd
3. ¢ U Yfdsdq ST
4. % 30T YdHTA




Question Number : 92 Question Id : 60092911458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 fasmedl o 9 39 faded &1 997 &< Sl fAU T geTak & Tat o &l faweu g |

RR TR B e

Options :

1. ¢ Sftrer & g uR g
2. % JH GEIE g

3. % g3l

4. % ggy fdeE &1

Question Number : 92 Question Id : 60092911458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 fawedl & & 39 fdded &1 99 o S fAU U ggrar & Wal o H1 fddbeu 3 |

R IR B TeAT
Options :

1. ¢ SfereH & fo R g1
2. % JF AT BT

3. % & dMHr

4. % gy Sfere &1

Question Number : 93 Question Id : 60092911459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 fasmedl o 9 39 faded &1 997 &< Sl fAU T geTak & Tat o &l fawed g |
fqufy gdva

Options :
1. % §gd hIy T 3T




2. % U T H T
3. ¥ bl DI QR BIAT
4. % 3THHO BT

Question Number : 93 Question Id : 60092911459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 famedl & ¥ 39 fasmed &1 98- &< il fAT 0 GgTar & g o &1 fadweu 5 |
fqufr gaher

Options :

1. % Sga iy H M
2. % 30+ g H TG
3. ¢ TPhel Bl gR HIAT
4. % 3THHU BT

Question Number : 94 Question Id : 60092911460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fashey &1 9u7 B3 o fou T Aieifaa & Ugl srf w1 faweu 7 |
SRR ECRIGEIE]

Options :

1. % i ool el Ibal

2. % 3AGDHd Y Igd HH Ha

3. % HgIdA M

4.« ST 3TSH BT 8 IYP 1Y 9T 8F SIIeR foram S 8

Question Number : 94 Question Id : 60092911460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & 9§ 39 fadhey &1 98- B3 off foU U Aieifad & el srf w1 faweu g |




SRR ECRIGEIE

Options :

1. % g e el Iobal

2. % 31Tl Y §gd HH T

3. % I gF

4.« 17 3 H gIaT § I 1Y 397 81 sadeR frar ST @

Question Number : 95 Question Id : 60092911461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faemedl § 9 39 fadmed o1 9a- &< ol Ug! fov™ fug gad ared &1 fadwed § |
Options :

1. ¢ TEERT TR e 1 g Fo1 a8, T2

2. % THERT PR R B FoW TSI ST Z T T2

3. % YHERT IR 6] Bl FeH I8 18,8 7|

4. % YEERY A6 KT ! oY 751 &8 .6

Question Number : 95 Question Id : 60092911461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fawedl o @ 39 faded &1 997 &3 S I8! farvm g gad o &1 faweu |
Options :

1. ¢ AR T A1E ) Yo ST SR, B 2

2. % TR PR Q! Pl qaW T g g "8 2

3. % gOER AIeR el B e 981 ¢ 8 8 7|

4. % TUQRT Ao TG Bt J99 o1 a1 6,6

Sub-Section Number : 2
Sub-Section Id : 600929750
Question Shuffling Allowed : Yes




Question Id : 60092911462 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

e fau U TR P eagd e U SR U@ Y U BT qarad SR I |

TR H 31T 3 4H Y=iferd g Syl afads o &l UTei-ad T STl § | $9d UHTd 3918 3R & H 31Td g | If3d & URT 3R agdl
ef 1t et B 1 ferg ol @ el Rg, 511, diig ol +ft 81 ST ot & A arall ot Tke fay o i § |

! 4T fosa omg a8 o § | e o gt § Sl AFadl & UTe UgId | TSl & e UdhdT, UH 3R Teard &1 R HA are o4 gt
e o g | 4 Uol-Ugfa A 8 § | 98 SiiaH S &1 U UG 3(a%9 g1 YRd H ¢ & 39 9801 §d1U TN €, 9 8- 94, &, Sferiam,
3%, gz, sfa-fRg,  foen, T 3R 3Ry | A &0 UTT: Ude oH H 71T 1 A &1 HIFadl &1 Uge & | I YH e
e AU A fayrI H3d € | 39 Ad A 9t ¢yH 0= U T T & UH 8 | 9H ST 811 & HRUT ST BT, Iadurd BT, fgan
T, THRY ¥ HRAT 3R - JSY- s B g BT A 4o g, T I8 I gl g

e ¥ U HAT 3R RAHARR I8 81 Al &1 U8 ¢ | 30 H &l AT fooeg 317 Yl T SR 1 a1 Taed THHTE g | T8t fay
& I HTIT R

Sub questions

Question Number : 96 Question Id : 60092911463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feg 4 O F1- 7 o et 2

Options :

1. ¢ {9, oA, g

2. % 315

3. % QXH

4, % ORI

Question Number : 97 Question Id : 60092911464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y R 2

Options :

1. % Tory ond1 ¥ ured o wrett &

2. % Sl pH Y a8



3. % SN oA A | S
4. ¢ O 9T foear SQ

Question Number : 98 Question Id : 60092911465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRA H 4 & foba T&U SaR TG 2
Options :

1. %5

2.9 10

3.% 7

4. % 4

Question Number : 99 Question Id : 60092911466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o 1 faeH Wea AT 6 2

Options :

1. % T

2. % Y

3. 3y

4. % g

Question Number : 100 Question Id : 60092911467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SFTeve 3 oy SR e &R |
Options :

1. % dfe oy

2. % Y ot

3. % g b =y

4, ¢ FAYH GHHTT



Question Id : 60092911462 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

) feu 7TU e Y earYdes Ug SR U 7Y Ul T gataH SR I |

GIR ¥ 311 3 4 y=iferd g SiydT Afdes o &bt UTei-ad HIHT ST § | S8 UYTd 3918 3R 3% e 3fTd | Uiy & Ut 3ik ggdl
e off Terd § | fiemg o © et Ra, o, 9 o 11 €1 3918 o o A arall ot ke fay o waffies | |

forgent YT forar o a8 e § | et 4w gat @ St AHadl &1 UT6 UGTE | HSal o oie Udhd, U 3R gl Pl [T & arel o gt
T o | 4 oll-Usfd A 81 ¢ | a8 Si1a oS- &1 U UG I 3(aR9 ¢ | YRA 8 41 & ¥ T80T §d1E T &, d -4, &, SMTewiaH,
3%y, ufazrd, stsa-fAus, e, I SR 3rbIY | A &0 UTT: Udd YH & AT § | T &0 Hadl o1 UgaH ¢ | 9= YHie

g TS B fayrg od 81 370 gd # 9+ 4 UM U A G & U 8 | 9H 31T 819 & HRUT IATST HRAT, IaduTd AT, i
T a1, FHIRT T8 AT 3R Tl-JoY-a<d| B gl ®31, 7 4H 8, 7 I8 Ifod 8l g

9 Y UH HRA1 3R TR 61 € IIdl & Uga g | 30 e &1 [T fbeg 310 U} BT 3HTER AT &1 oo GHHTd ¢ | Jat fay
& Iqfs HTIAT R

Sub questions

Question Number : 96 Question Id : 60092911463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feg 4™ O F1- 7m o a2

Options :

1. ¢ g, 59, g

2. % TS

3. % &IH

4. % U

Question Number : 97 Question Id : 60092911464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
yf g 2
Options :

1. % 58yl @ U fhar S g



2. % B I Aadr g
3. % S SH Y@ e
4. ¢ TS 9T foear STQ

Question Number : 98 Question Id : 60092911465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRA H 4H & b A&U SR MU R 2
Options :

1. %5

2.9 10

3.% 7

4. % 4

Question Number : 99 Question Id : 60092911466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1} 1 fadm T AR 2

Options :

1. % T

2. 8 Y

3. ¢ 3yd

4, % g

Question Number : 100 Question Id : 60092911467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3Tase & forg Ifua < iford |
Options :

1. % afcw ool

2. % Fy gy

3. % g &b &Y



4. ¢ gAYH JAHTI

Disciplinel
Group Number : 6
Group Id : 600929470
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Disciplinel
Section Id : 600929625
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929751
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 60092911468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When combustion of 1 kg of carbon takes place in sufficient quantity of oxygen what will be the amount of oxygen required to produce 11/3 kg



of carbon dioxide?
Options :

1. % 3/8kg

2. % 8kg

3. % 3kg

4. ¥ 8/3kg

Question Number : 101 Question Id : 60092911468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S 1 kg BT DT G5 Saio DI GAT AR H BIAT 8, @1 11/3 kg PIa SIS SHGITSS I B o 1014 SH{iTor B} fdd-T AT B
TG H T g2

Options :

1. % 3/8kg

2. % 8kg

3. % 3kg

4.+ 8/3kg

Question Number : 102 Question Id : 60092911469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 'm' is an odd positive integer, then am + bm is divisible by
Options :

1. % a2+ b?

2.% a+b

3.%a-b

4. % Botha’+b*anda+b

Question Number : 102 Question Id : 60092911469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 'm' favH TS quifes €, aF am + bm I faursa B



Options :
1. % a2+b?
2.% a+b
3.% a-b

4, % a2+b23‘ﬁTa+bEﬁ:ﬁ

Question Number : 103 Question Id : 60092911470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If B, C and D are any three sets, then B < (C v D) is equal to?
Options :

1. % BxC)N(BxD)

2.% (BUC)x(BUD)

3.9(BxC)U (BxD)

4. % BNC)x(BND)

Question Number : 103 Question Id : 60092911470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe B, C 3R D ®Is A =T §, Al B x (C v D) AT & RIeR 82
Options :

1. % BxC)N(BxD)

2.% (BUC)x(BUD)

3.9 B xC)U (B xD)

4. % BNC)x(BND)

Question Number : 104 Question Id : 60092911471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
At 4 Degree C the specific gravity of water is

Options :



1. ®* 1000
2.¥1

3. % 0.1

4. * 100

Question Number : 104 Question Id : 60092911471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 f&7ht ¢ W a1 &1 fafRy To@ g gl
Options :

1. * 1000

2.9¥ 1

3. % 0.1

4. * 100

Question Number : 105 Question Id : 60092911472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Most cast irons have a chemical composition of carbon, 1-3% silicon, and the remainder is iron.
Options :

1. * 0-0.5%

2. % 5-10%

3.9 25-4.0%

4. % 0.5-1%

Question Number : 105 Question Id : 60092911472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{ferepTRT geidi dig | BIeH, 1-3% RATAPBH Bt TFRAS A1 Il &, 3R VB AT 8l 5|
Options :

1. ® 0-0.5%

2. % 5-10%



3.9 2.5-4.0%
4. % 0.5-1%

Question Number : 106 Question Id : 60092911473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Speed of a boat can be measured by using

Options :

1. # Venturimeter
2. ¥ Pitot Tube

3. % Manometer
4. % Orifice Meter

Question Number : 106 Question Id : 60092911473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A9 $1 71 B T IUINT HRab AT o Johdll & |
Options :

1. % dgdiHic]

2. ¢ Urgec ol

3. % TR

4. % SHIRGHTG

Question Number : 107 Question Id : 60092911474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The deformation in length of a body of length I, area A when tensile load 'P' is acting, is given by
Options :

1. % PA/El

2. ¥ PI/AE

3. % AE/PI




4. = PE/Al

Question Number : 107 Question Id : 60092911474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 1, & A TR 99 G919 YR ‘P B IR @1 7, dl e A faeaor FINKISIRI]
Options :

1. * PA/EI

2. ¥ PI/AE

3. % AE/P]

4. % PE/Al

Question Number : 108 Question Id : 60092911475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the diameter for tolerance grades ITO1 is given as 100mm then standard tolerance unit (i) in microns is
Options :

1. # 0.1

2.¥ 1.1

3.% 0.8

4. %03

Question Number : 108 Question Id : 60092911475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS TRV (Sfasd) I8 1T01 & el ST 100mm & 9 H a1 71 § < Ageh= & AFe QRWAT (@Iery) 318 (1) gl
Options :

1. #® 0.1

2.¥ 1.1

3. % 0.8

4. % 03



Question Number : 109 Question Id : 60092911476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify 'V' type threads from the given options.
Options :

1. # B.S.W Thread

2. # Metric Thread

3. ® Knuckle Thread

4. ¥ Both B.S.W Thread and Metric Thread

Question Number : 109 Question Id : 60092911476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UL ot B 9 v UHR & S Sl gl
Options :

1. ¥ BSWYS

2. % AfeH U3

3. % Jhd U

4.+ B.S.W ¥ 3R Ofew o< I

Question Number : 110 Question Id : 60092911477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The interference fit required for wheel set is

Options :

1. ¥ H8/u8
2. % N8/u7
3. ¥ H7/m7
4. % H8/m7

Question Number : 110 Question Id : 60092911477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YT & [T TR Sexthey flhe gl
Options :

1. ¥ H8/u8

2. % N8/u7

3. % H7/m7

4. % H8/m7

Question Number : 111 Question Id : 60092911478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In an isometric projection, lines which are not parallel to the isometric axis are called

Options :

1. # Concurrent lines

2. % Non Isometric lines
3. % Co-incident lines

4. % Isometric lines

Question Number : 111 Question Id : 60092911478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TACS TaT H, T T o HHNT 318 & THFIGR 81 gl 8, 39 Bl S 8|

Options :

1. % FHad ¥

2. ¢ IR UGS W4
3. % Ul 3@

4. % UG WU

Question Number : 112 Question Id : 60092911479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



When two or more entities lie on the same plane they are called

Options :

1. * Sub ordinate
2. % Datum

3. % Non Coplanar
4. ¥ Coplanar

Question Number : 112 Question Id : 60092911479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 1 AT &l 9 P D31 TP &1 dd W Bl § al 3 HET Al 8
Options :

1. % e (9 TS e)

2. % qIgH
3. % T HIFR
4. ¢ DR

Question Number : 113 Question Id : 60092911480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Latent defects are the defects which are identified
Options :

1. % during work
2. % during inspection
3. ¥ after issuing final certificate

4. % at initial stage

Question Number : 113 Question Id : 60092911480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T VRT6T 98 VRI6 ¢ foret uga™ DI B 1




Options :

1. % B P IRM

2. % f48eur & GRMA

3. ¢ 3ifH T U3 OR A & 916
4. % URIN® a1 H

Question Number : 114 Question Id : 60092911481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When focus on only quality work is required, architects are only engaged in
Options :

1. # Selective Service
2. * Partial Service
3. % Typical Service

4. ¥ Comprehensive Service

Question Number : 114 Question Id : 60092911481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST %Had OraAYUl B TR W 3 B STIRIHl gl §, ARgP Had HUqa A &
Options :

1. % Tg-HId daT

2. % 3D Ja

3. % fafy Jar

4.« IS JdT

Question Number : 115 Question Id : 60092911482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For A Circular Rod to have Small Curvature the ratio of the depth of curvature 'h' to the radius of curvature of the rod axis 'R’ should be
comparable with

Options :



1. % 021t00.5
2. % 05t 1.0
3. % 1.5t02.5
4.9 0.2 or less

Question Number : 115 Question Id : 60092911482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH TMATHR IS B BT Iehdl o [o18, Tehdl B! TEXTS 'h' I A & 318] & ahdl Aol 'R, BT AT & 1Y A1 g1 AU
Options :

1. % 02905

2. % 053710

3.% 15925

4. ¥ 0271390 HH

Question Number : 116 Question Id : 60092911483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Proof of Resilience of a Body is defined as the
Options :

1. % Total Energy stored in a Body.
2. % Maximum energy stored in a Body.
3. % Ratio of Total and Maximum energy.

4. % When the Maximum energy is zero.

Question Number : 116 Question Id : 60092911483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fOUs & UfcRIUEHT & THTN ([ 1% Rivciier) ol & ¥U H gRyTg fear mar g

Options :
1. % T U8 T WEd od S|




2. v U o 3 sifidmaa S|
3. % $d 3R HAGTH SHoll BT SUE|
4. % 99 HABAH ol LA B

Question Number : 117 Question Id : 60092911484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two rectangular simply Supported Beams Al and A2 have Bending Moment M and 2M, and the the Section Modulus as 4 and 2 respectively, the
ratio of Flexural Stress of beam Al to beam A2 is:

Options :
1. %2
2. % 12
3.% 4
4. ¥ 1+4

Question Number : 117 Question Id : 60092911484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l SATHR 1 a6 FHd ([UIcs) S Al 3R A2 & §% 3mgul M 3R 2M &, 3R TS ATA® HHRT: 4 3R 2 8, §H Al & WIRIRA
gfded § €11 A2 $T 30T 3:

Options :
1. % 2
2. % 12
3.% 4
4. ¥ 1+4

Question Number : 118 Question Id : 60092911485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Ratio of Efficiency of Riveted Joints in a Metal Frame to the Efficiency of Welding Joints is

Options :
1. % 13



2. % 23
3.9 3+4
4. % 4:3

Question Number : 118 Question Id : 60092911485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4T & I & Rdce SISl Bt &Hd1 BT dfcs T SiIS! & & ¥ SUTd gl
Options :

1. % 13

2. % 23

3.9 34

4, % 4+3

Question Number : 119 Question Id : 60092911486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following represent weather conditions and elements of a very large area
Options :

1. ¥ Geo-climate

2. # Ecological Climate
3. % Dynamic Climatology
4. # Physical Climatology

Question Number : 119 Question Id : 60092911486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & 3 & 9gd 99 &7 & B 31 UK SR dal (@fedie) &1 ufaFfia axdr g
Options :

1. & H-olcdiJ

2. % UIRIRYfdD Serarg




3. % TfaRiie STerargfasm
4. % Wfae Saargfa™

Question Number : 120 Question Id : 60092911487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a Primary pollutant
Options :

1. ¥ Carbon dioxide

2. % Carbon monoxide

3. % Nitrogen oxide

4. #% Both Carbon monoxide and Nitrogen oxide

Question Number : 120 Question Id : 60092911487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frafafed & 3 oF uriftie Ugus 15l 8
Options :

1. ¥ Pla SRS

2. % PIE AHIGIES

3. % 1EIoM 3HRIZS

4. % BT AHIRIRS 3R ARCIoM HRISS Gl

Discipline2
Group Number : 7
Group Id : 600929471
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Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 60092911488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"The density of any two gases at the same temperature and pressure 1s directly proportional to their masses", is the statement of

Options :

1. ® Joule's Law
2. % Boyle's law
3. % Charles's Law

4. ¥ Avogadro's law

Question Number : 121 Question Id : 60092911488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP gl aroHE 3R a1d IR fodft off &1 71991 1 o7 3% Soad= & 1Y gHUTfO 8IdT 3, PTHYT S




Options :

1. % S ol Ay

2. % §i1gd P g9
3. % 97d & g|

4. ¢ AT &1 |

Question Number : 122 Question Id : 60092911489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a reversible process?
Options :

1. ¥ Throttling Process

2. % Constant volume process

3. # Constant pressure Process

4. % Isothermal process

Question Number : 122 Question Id : 60092911489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fofefad § ¥ o IcpAvi UhH T8 82
Options :

1. ¢ yifefci usd

2. % fRRI% I UehH

3. % fRRIP g6 Ushy

4. % gUATY UehH

Question Number : 123 Question Id : 60092911490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The frictionless adiabatic process is also known as
Options :




1. * Isothermal Process
2. ¥ Isentropic Process
3. # Isobaric Process

4. % Isochoric Process

Question Number : 123 Question Id : 60092911490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YU TGS UehH I & &g H ft TS |

Options :

1. % Ut UshH

2. ¢ A<D UshH
3. % JRIIIEING UHH
4. % 3TZHIHIND UHhH

Question Number : 124 Question Id : 60092911491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term used for the One lumen of light falling on 1 m? of surface is:
Options :

1. % Light Offset

2. % External Lighting

3. % Lux

4. % Fluorescent

Question Number : 124 Question Id : 60092911491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
| m* a8 R IRA 16 U611 & U i & il Tged 9ieg 6

Options :

1. % 13C THUC



2. % §Tgdl Uit
3. ¢ T

4. % gfadifa

Question Number : 125 Question Id : 60092911492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The transfer of load carried by an existing foundation from its present bearing level to a new level at a lower depth is called

Options :

1. # Pile foundation
2. ¢ Underpinning
3. ¥ Well foundation
4. % Shoring

Question Number : 125 Question Id : 60092911492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS AiSlel TG GRT 30 GaHH SR WR § 61 TE18 IR U KR 0 HR & RIMIR0 &I FHEI AT g |
Options :

1. % UI2d A9 (Ured BrdsTH)

Y v \

3. % o BI3exH

4. % R

Question Number : 126 Question Id : 60092911493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sheet Piling is suitable for

Options :
1. * Fine Grain Soil
2. % Fine Sand



3. # Clayey Soil
4. ¥ All of the given options

Question Number : 126 Question Id : 60092911493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=fte rsfer o fore IugH &
Options :

1. % Y&H DU Hal

2. % YEHDIUP §Ie]

3. % HUHY HaTl

4. ¢ feum a4t faswen

Question Number : 127 Question Id : 60092911494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pavements that contain a nominal amount of cement to bind materials in the sub base and have bituminous materials for surfacing is known as:-
Options :

1. ¥ Flexible Pavement

2. % Rigid Pavement

3. # Earthen Pavement

4. % Stone Mastic Pavement

Question Number : 127 Question Id : 60092911494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BieH o 99 o9 & 9l &1 Siem & fou Hie 3 oF a1 gl § 3R Tde & e fgfird g 81 R, S | pe S R -
Options :

| v T oRE

2. % Udop] pieH

3. % fgt pien



4. % TH ORed Hied

Question Number : 128 Question Id : 60092911495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For an offshore Marine structure or tower which of the following type of pile should be used:
Options :

1. ¥ Batter Pile

2. # Friction Pile

3. % screw piles

4. # Strip Foundation

Question Number : 128 Question Id : 60092911495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YIS T Y1 1 <R & ford FafeRad O 9 food UpR o &= b1 IuaNT {1 ST A1fa .
Options :

1. ¥ SR URd

2. % flhaRM UIgd

3. % &P UIgdl

4. % G gHa1E (RTU BrdseH)

Question Number : 129 Question Id : 60092911496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One of the best-known and most widely used systems for land use classification is the:
Options :

1. ¥ Holdridge Life Zone Model

2. # Fannel Model

3. % Dawling Mode

4. % Zoning Life Zone Model



Question Number : 129 Question Id : 60092911496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B U Fffenxur & e e Ui SiR JaY TU® U & SUTRT S oI aTel Jonfed § 9 T &
Options :

1. ¢ IS AW S Aled

2. % Bd Hlsd

3. % 3T HS

4, % QT ARH o4 ATSd

Question Number : 130 Question Id : 60092911497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which One of the following is not a Main pillar of Green Ecological Movement?
Options :

1. # Ecology

2. # Social Responsibility

3. ¢ Future Focus

4. % Non violence

Question Number : 130 Question Id : 60092911497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed 3 3 o sRa TRfRfae siiciar &1 g&T WY 8l 62
Options :

1. % UIRfRfcap

2. % FHTSH IR

3. ¢ Hid= vy

4. % 3ffgan



Question Number : 131 Question Id : 60092911498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A large Land community where the plant species are uniform is called

Options :

1. ¥ Biomes

2. % Grass Land
3. % Forest

4. % Green advocacy

Question Number : 131 Question Id : 60092911498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 981 YfH T S8t Uil &1 grenfadi e 99 gl §, 39 HET ST g |
Options :

1. ¢ SIEY

2. % UYMW

3. % 4dq

4. % gia gergadA

Question Number : 132 Question Id : 60092911499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Amount of Dissolved Oxygen (DO) required for the survival of aquatic life should be between:
Options :

1. % 7-8 ppm

2. % 0-3 ppm

3.9 4-6 ppm

4. % 8-9 ppm

Question Number : 132 Question Id : 60092911499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

S St & 3Hf&dd & o sira=des gferd SiieRits &1 7 e ot giil =g e:
Options :

1. % 7-8 ppm

2. % 0-3ppm

3.9 4 -6 ppm

4. % 8-9ppm

Question Number : 133 Question Id : 60092911500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The capability of some mineral to split along certain planes parallel to the crystal face is known as

Options :

1. # Streak
2. # Lustre
3. ¥ Cleavage
4. % Crystal

Question Number : 133 Question Id : 60092911500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

$S WS ! fbied Haldh & GHHIR $S dall | AU g1 DI &Hd Bl o 19§ ST ST & |
Options :

1. % Wb

2. # R

R ACNICK

4. % fopked

Question Number : 134 Question Id : 60092911501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
On increasing the quantity of C2S in cement Clinkers:



Options :

1. # Resistance to freezing increase but early strength decrease.
2. % Resistance to Freezing decreases but, early strength increase.
3. # Both Resistance to freezing and early strength increase.

4. ¥ Both Resistance to freezing and early strength decrease.

Question Number : 134 Question Id : 60092911501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e [Fd®: | €28 & A1 dgH IR

Options :

1. % fgrierur & for ufeRkly dgdr § RReg URMYS §d 1 81 Sal g |

2. % fgriievur & e ufeRly &9 Y SraT § dfd, URfYe dred 9¢ Sl 8|
3. % fgHievur & fore ufeRly iR Rf® dred Fl & gfg Bk 8|

4. ¢ fRHfievur & o ufaRiy SR TR didhd g &4 81 97 & |

Question Number : 135 Question Id : 60092911502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fungi that attack a growing tree and damage it's structure is called

Options :

1. ® Dry Rot

2. % Wet Rot

3. ¥ White or Brown Rot
4. ® Green Rot

Question Number : 135 Question Id : 60092911502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIdb ol T 37Td U TR gHA Hdl § 3R P! W &I T Ugardl & 39 CIHRSIGIE
Options :




1. % ch fqTTeH
2. % IS faTrem
3. ¢ The a1 W1 faTrem
4. % gRd faire

Question Number : 136 Question Id : 60092911503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gothics is an architecture style developed from

Options :

1. ¥ Roman style
2. # Persian style
3. # Christian style
4. % Indian style

Question Number : 136 Question Id : 60092911503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
MR Y fasRid IR el B
Options :

1. ¢ 5 2t

2. % HRYI Aeh

3. % 39Ts <l

4. % YR Al

Question Number : 137 Question Id : 60092911504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In India, the Maximum number of historic monuments can be found in which of the following cities?
Options :

1. # Jaipur



2. # Lucknow
3. % Delhi
4. # Rajasthan

Question Number : 137 Question Id : 60092911504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR H, gaifie Waeiie wRe Fafafea d 3 fog g & ue o1 9ed 82
Options :

1. # Sy}

2. % oG1$H

3. ¢ faecit

4, % ST

Question Number : 138 Question Id : 60092911505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following architect worked on modern style?
Options :

1. # Hector Guimard

2. # Antonio Gaudi

3. % Bartolomeo Restrelli

4. ¥ Both Hector Guimard and Antonio Gaudi

Question Number : 138 Question Id : 60092911505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied o 9 ford aRg®R = Sy el IR & fham

Options :

1. % g EATS
2. % 3 T



3. % qleiaH el
4. ¥ QIR TEHIS 3R Y et Gl

Question Number : 139 Question Id : 60092911506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In India the rock cut architecture abundant in symbolic geometry is influenced by

Options :

1. ¥ Persians
2. % Romans
3. % Arabs

4. # Europeans

Question Number : 139 Question Id : 60092911506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR H, TdIdhIdEd Saniid & TR A1 § (e de aRgehdl I yyTfaa g
Options :

1. ¢ BRI

2. % qFAI

3. % 3Rl

4. % RIUDY

Question Number : 140 Question Id : 60092911507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the departure and Latitude of a line are + 82.0 m and -123.2 m respectively, the length of the line is

Options :

l. % 1557 m
2. % 188.0m
3. % 177.0 m



4.4 147.99 m

Question Number : 140 Question Id : 60092911507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Teb T BT TRYF SR &I HH: +82.0 m 3R -123.2 m &, A X1 P e

Options :

I. * 155.7m
2. % 188.0m
3. % 177.0 m
4. ¥ 14799 m
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Question Number : 141 Question Id : 60092911508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The art to determine the correct difference of levels between two points where its is not possible to set up the instrument between them is known
as:

Options :

1. # Trigonometric Levelling
2. % Reciprocal Levelling

3. # Fly Levelling

4. ¥ Differential Levelling

Question Number : 141 Question Id : 60092911508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3l figsii & g & TR & Tal 3R & Ui B &1 Bt Set I i IUHR R HRA1 4T Tl 5, 9 =0 T SH1 5l 6

Options :

1. % Bouiidy ggded (emmfcs dafe)

2. ¥ YahH JHAC (RINdH ddfei)

C O\

3. % 38 JHA DR (Ycll cdlictil)

4. ¥ AR DR (FSHRad dafei)

Question Number : 142 Question Id : 60092911509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The slope correction for a Length 40 meter along a gradient of 1/20 is
Options :




1. # 0.05cm
2. % 5.00 cm
3. % 50 cm

4. % 0.50 cm

Question Number : 142 Question Id : 60092911509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1/20 B! QT b 1Y 40 m B| TS P T ST UR gl
Options :

1. % 0.05cm

2.9 500 cm

3. % 50 cm

4. % 0.50 cm

Question Number : 143 Question Id : 60092911510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The intersection of Horizontal axis, vertical axis and the line of collimation, is known as
Options :

1. ¥ Instrumental Center
2. # Axis of telescope
3. % Trunion axis

4. # Axis of plate level

Question Number : 143 Question Id : 60092911510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 3181, Sreater 3M&f 3R HHRUT bl IWT P HITCTHR bl & T H ST ST g |

Options :

1.#3’1‘@??{@??




2. % gl @1 3fef (Tfe)
3. % iy ufeay
4. % Tc TR BT e

Question Number : 144 Question Id : 60092911511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a programming language?
Options :

1. % C

2. % Java

3. % Python

4. v Al

Question Number : 144 Question Id : 60092911511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofRed o © 1= I Uiy et 5
Options :

1. % C

2. % [l

3. % TIigYd

4. ¥ Al

Question Number : 145 Question Id : 60092911512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a part of secondary constant?
Options :

1. ¥ Real Constant

2. % Array



3. #* Pointer

4. % Structure

Question Number : 145 Question Id : 60092911512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 3 o fgdias adie o1 um g g2
Options :

1. ¢ 9rfde Aadics

2. % JROfl

3. % AP (TER)

4. % I

Question Number : 146 Question Id : 60092911513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Repeating a portion of the program either specified number of time or until a condition is not satisfied is called
Options :

1. % Array

2. # Function

3. % Loop

4, % Recursion

Question Number : 146 Question Id : 60092911513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & [l ur Y at RSy Tramaft o a1 fardt srae1 & 1A 819 a9 SIeRE oA Bl EEASIGI
Options :

1. % RO

2. % TR

3.0




4. ® gfagda

Question Number : 147 Question Id : 60092911514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The collection of similar data type or elements is called

Options :

1. # Case Control
2. # Pointer

3. % argument

4. ¥ Array

Question Number : 147 Question Id : 60092911514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UM ST UHR 1 dadl (Tferde) &b TUg &l HeET ST |
Options :

1. % $Y dHeld

2. % YIP (TR

3. % b

4. ¢ IO

Question Number : 148 Question Id : 60092911515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Rural areas in India, which type of waste water system is used?
Options :

1. # partially separate

2. % combined

3. % separate

4. % Separate but intersecting at some distance



Question Number : 148 Question Id : 60092911515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA H Yrtor &3 7, frg TR Bt SUfRrs S Yumrel) o1 SUART fban S &2
Options :

1. % 3fifep =Y Y ST

2. ¥ g

3. % 3l

4. % 3T AP $6 g8 W Ufd=de Hd &

Question Number : 149 Question Id : 60092911516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the Velocity of water flowing in a Pipe is suddenly diminished, raising the pressure, the phenomenon is called:
Options :

1. % Air Lock

2. % Water Hammer

3. # Cavitation

4. # Siphonage

Question Number : 149 Question Id : 60092911516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OI§ U U3y H §8- aTd) STt b1 97T 3T HH 8 SildT 8, ol &Id 9¢ SIIdl §, 59 U1 &I gl ol &
Options :

1. ¥ TR AP

2. ¢ SIATITd (dTeR 8FR)

3. % TfFH (HdIcTH)

4. % GBS




Question Number : 150 Question Id : 60092911517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Coarse screens in the water treatment unit are provided at a distance of

Options :

1. # 50 -75 mm
2.9 75-100 mm
3. % 100 - 125 mm
4. % 125 -150 mm

Question Number : 150 Question Id : 60092911517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oI TN SPhT8 A B WhI DI TR IR HRIY ST & |
Options :

1. # 50-75mm

2.% 75-100 mm

3. % 100 - 125 mm

4, % 125-150mm

Question Number : 151 Question Id : 60092911518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given options which one is not the methods of achieving energy efficiency in buildings

Options :

1. #* material and construction technique
2. % building orientation

3. # renewable energy

4. % Green building

Question Number : 151 Question Id : 60092911518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T T At & 9§ HH-91 YaHl & SHoll G&fdl U & o1 [afal g1 o
Options :

1. % QrRh SR o deiid

2. % Yo HfHfIr

3. % 3&d Sl

4. ¢ gRd Yo

Question Number : 152 Question Id : 60092911519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Method to control the temperature in the Buildings is

Options :

1. ¥ thermal insulation

2. % Aluminium Sheets

3. % Plywood

4. # All of the given options

Question Number : 152 Question Id : 60092911519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yai § dIqHM o Fafid & ot fafy gl
Options :

1. v S

2. % TGHHTY ey

3. % Wiigds

4. % feu U gHt fasey

Question Number : 153 Question Id : 60092911520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Mass, Space, Proportion and Balance in an aesthetic building are its

Options :

1. ¥ Key Elements

2. % Ideal modelling

3. # Information modelling

4. % All of the given options

Question Number : 153 Question Id : 60092911520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gicd ya= H goqa, R, AU 3R dJe- 39& g
Options :

1. ¥ HE@YUl dd (P! TferHc)

2. % 3Rl AlSfeiT

3. % AT HielaT

4. % feu U g fddbey

Question Number : 154 Question Id : 60092911521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A Built Environment is all of the following, except

Options :

1. # Buildings
2. # Facilities
3. ¥ Rivers

4. ¥ Roads

Question Number : 154 Question Id : 60092911521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U fAftfa yataror fFafifed & § @it ], Ram

Options :



1. % ARG
2. % gfayrsfi
3. ¢ Afeal
4. % FSb

Question Number : 155 Question Id : 60092911522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a machine shop having extremely high ceiling with enclosed space which of the following sound absorbers should be used

Options :

1. # Variable absorber
2. % Suspended absorber
3. % Rotatable Panels

4. ¥ Rotatable Cylinders

Question Number : 155 Question Id : 60092911522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TR BT gh H T Gy RIM & 91y 3Afed Sl ©d 5, FafiRad § 4 oy @i sraxiive &1 ST fasan ST afeu
|

Options :

1. % TR AP (ANTTA HRER)

2. ¢ Fdlad SERive (TS 3eUReR)
3. % guiH-arg U9d RIecTd U@

4. % YUIF g Ricier Ricead Riaey)

Question Number : 156 Question Id : 60092911523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Glare contribution of different sources depends up on
Options :




1. # Size

2. % Luminance

3. ¥ Both Size & Luminance
4. % Colour

Question Number : 156 Question Id : 60092911523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafre Sl T URERAT TNTGH (TR e [eg=H) R R AT gl
Options :

1. % HHR

2. % ifqHadT (qeET)

3. ¢ A 3R BGHl

4. % 30

Question Number : 157 Question Id : 60092911524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In steels, the temperature point at which phase change start on heating is know as

Options :

1. ¥ Lower critical point
2. # Melting Point

3. % Upper Critical point
4. ® Yield Point

Question Number : 157 Question Id : 60092911524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
zo7d ¥, for a9 faig R 1 811 IR =Rur gRkadH O g1 | 99 & ¥ H ST S g

Options :

1. ¢ 9 (Q@IeR) B fag




2. % ISHD
3. % JW (IUR) Hif<id forg
4. % YT fag

Question Number : 158 Question Id : 60092911525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a case hardening process?
Options :

1. * Carburising

2. #® Cyaniding

3. * Nitriding

4. ¥ Normalising

Question Number : 158 Question Id : 60092911525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FofRed & ¥ 31 I B 31e 71 UhH T8l 52
Options :

1. % BIERISMOHT

2. % GIOARfE

3. % Hgrefe

4. THTSORT

Question Number : 159 Question Id : 60092911526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A unit cell of a Face Centred Cubic space lattice has a coordination number of

Options :
1. %9
2. % 17



3.¢ 12
4. % 14

Question Number : 159 Question Id : 60092911526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WAd Biad Ffad WY STel B U 3HhTs I I & T ST Bl g
Options :

1. %9

2. % 17

3.¥ 12

4. % 14

Question Number : 160 Question Id : 60092911527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A material is to be used for making springs. Which of the following property is essential for the material?
Options :

1. # Toughness

2. # Malleability

3. ¥ Resilience

4. # Ductility

Question Number : 160 Question Id : 60092911527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S §9M & foTe U arelt &1 SuaT foran o & | FafaRad & @ & 9 or el & o ea=a e 82
Options :

1. % Toret

2. % 3rarqad-iaar

3. ¢ UfeRIyemar (RfSreiter)



4. % dgdl
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Question Number : 161 Question Id : 60092911528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In S.I. units the value of Universal gas constant 'R' is given by:



Options :

1. ¥ 8.314kJ/kg-moleK
2. % 83.14kJ/kg-moleK
3. # 0.8314kJ/kg-moleK
4. % 831.4kJ/kg-moleK

Question Number : 161 Question Id : 60092911528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S.1. SHIsAl § gaHT 79 fRRI% R &1 0 A5 gR1 fgam oirar
Options :

1. ¥ 8.314kJ/kg-moleK

2. % 83.14kJ/kg-moleK

3. % 0.8314kJ/kg-moleK

4. % 831.4kJ/kg-moleK

Question Number : 162 Question Id : 60092911529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The blade efficiency of a steam turbine is 0.50 and nozzle efficiency is 0.30, then the stage efficiency of the steam turbine is
Options :

1. %03

2.% 0.8

3.% 05

4.9 0.15

Question Number : 162 Question Id : 60092911529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT TRET3 B1 &I G&T 0.50 § 3R AIoTel G&dlT 0.30 8, Tl HT SIS BT aR0T G&fdl gl
Options :

1. % 0.3




2. %08
3.%05
4.4 0.15

Question Number : 163 Question Id : 60092911530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correct sequence for decreasing order of brake thermal efficiency of the given type of I.C. engine?
Options :

1. ¥ 4 Stroke C.I Engine, 4 stroke S.I Engine, 2 stroke S.I engine

2. ® 4 stroke S.I engine, 4 stroke C.I engine, 2 stroke S.I Engine

3. ® 4 stroke C.I engine, 2 stroke S.I Engine, 4 stroke S.I engine

4. % 2 stroke S.I Engine 4 stroke S.I engine, 4 stroke C.I engine

Question Number : 163 Question Id : 60092911530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafRad & 9 SH W AU T & 1.C. $9H & UHR HI §d AU G&fdT & bed oY & T8 Tl v g 12
Options :

1. ¥ 4 b C.IS9M, 4 KD S.I S0, 2 KD S.I S

2. % 4D SIS0, 4 Ll C.I S5, 2 WK[h S.I 5o

3. % 4D CI155, 2 KIdh SIS0, 4 Kb S.I S0

4. % 2D S.150H, 4 Ll S.1 59, 4 Kb C.1 S

Question Number : 164 Question Id : 60092911531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

if 'U'" is the useful heat drop and 'T' is the isentropic heat drop then the coefficient of Nozzle is defined as
Options :

1. # UI

2. ¥ U/




3. % UH
4. ® U-1

Question Number : 164 Question Id : 60092911531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe U STENT ST § 3R T 33 fRe 91T § df Fieidt & Ul bl & =0 § uRuiid foar S 3
Options :

1. % UI

2. % U/l

3. % U+

4. % U-I

Question Number : 165 Question Id : 60092911532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correct relation for Young's modulus of elasticity, modulus of Rigidity, and Bulk Modulus?
Options :

1. % E=(9KC)/(3C+K)

2. % E = (3K+C)/(9KC)

3. ¥ E = (9KC)/(3K+C)

4. # E = (9K+C)/(3CK)

Question Number : 165 Question Id : 60092911532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafIRed & I S 1 IRATRIAT ST I AU, SO0 [Unidh (gAY 311 Riviereh) 3R deh Aregerd & e 98! 9ay 52
Options :

1. % E=(9KC)/(3C+K)

2. % E = (3K+C)/(9KC)

3. ¥ E = (9KC)/(3K+C)

4. # E = (9K+C)/(3CK)



Question Number : 166 Question Id : 60092911533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The proof resilience per unit volume of a material is known as

Options :

1. # Resilience

2. ¥ Modulus of Resilience
3. ® Modulus of rigidity

4. % Strain energy

Question Number : 166 Question Id : 60092911533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et gl & ufd 318 smaaH o1 yHTur ufaRigemar (Rireer) & g & THT ST 8 |

Options :

1. * gieRlgemar (Rfsreter)
2. ¢ URcRIYEHAr ATdid (ST 3Hith Rivieamy)

3. % 3O UNH (gAY 3HIh RITISIET
4. % fapfd FHei

Question Number : 167 Question Id : 60092911534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The power transmitted by a belt is maximum when maximum tension in belt is equal to

Options :

1. ¥ 3 times of Centrifugal Tension
2. % 2 times of Centrifugal Tension
3. % Centrifugal Tension

4. % 1/3 of Centrifugal Tension



Question Number : 167 Question Id : 60092911534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH UST gR1 UfSd e sif¥ead gidl ¢ ofd gt # ffdwdd a-ra & RER BRI
Options :

1. ¢ SRS q1d (A THRIT C-MH) BT 3 ]

2. ¥ HEUYRS d1d (AT ¢-H) BT 2 ]

3. % HEUARS 19 (T TRIT CRH)

4. % HEYYRD TG (SRS <) BT 1/3

Question Number : 168 Question Id : 60092911535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The True length of a Line which is parallel to V.P and H.P can be seen in
Options :

1. # Front view and side view
2. % Top view and side view
3. % Top view and Front view

4. % Front view

Question Number : 168 Question Id : 60092911535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

V.P 3R H.P & JHMIR 34T &1 Ha! dalg A 3 S Had g
Options :

1. # The g 3R U1ZS

2. % ST T AR RS

3. ¥ T I IR The &,

4. % The

Question Number : 169 Question Id : 60092911536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
If the Scale of a drawing is given as lcm=Imm then the R.F. is

Options :
1. * 1000
2. % 1+1000
3. * 1+100
4. ¥ 1+10

Question Number : 169 Question Id : 60092911536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
mwaﬁmlcmZImmémﬁzﬁTﬁ%fﬁR.F. %l
Options :

1. * 1000

2. % 1+1000

3. # 1+100

4.4 1+10

Question Number : 170 Question Id : 60092911537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When a cone is cut by a section plane making an angle of 90 degree with the cone axis then the section obtained on the cone will be a

Options :

1. # Parabola
2. * Ellipse

3. % Hyperbola
4. ¥ Circle

Question Number : 170 Question Id : 60092911537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



OId U P DI AP 3H& & 1Y 90 TSI BT HI01 I §T TS THAA §RT HIeT o1l ¢ ol WP IR U TS BRI
Options :

1. % IRIAY

2. % grdqa

3. % JffdqRacy

4. g

Question Number : 171 Question Id : 60092911538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the First angle projection of an object is to be obtained, the object must be situated in the
Options :

1. ¥ First Quarter

2. % Second Quarter

3. % Third quarter

4. #* Fourth Quarter

Question Number : 171 Question Id : 60092911538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fordfl 9 o1 U 10T &Y YT DHRAT 81, ol a%g Dl ¥ fd g amfeul
Options :

1. ¢ ugdl faHs!

2. % gdt fammsl

3. % dIR foragt

4. % 9rft fommE!

Question Number : 172 Question Id : 60092911539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Different ways to draw an orthographical projections are




Options :

1. ¥ First and third angle projection

2. # third, fourth and second angle projection
3. # First and second angle projection

4. ® Second and third angle projection

Question Number : 172 Question Id : 60092911539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARG Y& §914 & fafte adids gl
Options :

1. ¥ UG SR =T 10T &y

2. % JIRIRT, T 3R IRT B0 G

3. % UG 3R ORI HIU &y

4. % IR 3R R HI0T U&Y

Question Number : 173 Question Id : 60092911540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When all four equal faces of a polyhedron are equilateral triangle then it is known as
Options :

1. # Octahedron

2. # Hexahedron

3. ¢ Tetrahedron

4. % Dodecahedron

Question Number : 173 Question Id : 60092911540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
OId U Sghad & TH! IR THH Hdd THaTg By 8id § al 39 HET ST g

Options :




1. % APHAD! (Macear)
2. % YCHAD! (FRITS)

3. ¢ I AD]

4. % GIENHAD! (SISeSH)

Question Number : 174 Question Id : 60092911541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When the projectors make an angle of 90 degrees with the plane on which projection is being obtained, then the projection is called

Options :

1. % Perspective projection
2. % Orthographic Projection
3. # Pictorial Projection

4. % Oblique Projection

Question Number : 174 Question Id : 60092911541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STd Yloide’ 39 dd ¥ 90 TSI &1 1or §97d § Fore IR yaor ured fosan i X1 @, dl 9ay &1 ERSIGI
Options :

1. % gRUed Hay

2. ¥ TEHIVIY T&Y

3. % feEflg way

4. % fode gam

Question Number : 175 Question Id : 60092911542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The correct abbreviation for cutting a metric thread of Nominal Diameter 18mm and pitch 1 mm is
Options :

1. ¥ MI8 x 1




2. % M1 x 18
3. % M1 +18
4. % MI18 x M1

Question Number : 175 Question Id : 60092911542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hichfcidh AT 18 mm 3R U 1 mm & HIfZH IS Pl BTe o1 T Afand A &l
Options :

1. % MI18 x 1

2. % M1 x 18

3. % M1 + 18

4. % M18 x M1

Question Number : 176 Question Id : 60092911543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is used for developing prism and single curved surface like cylinder?
Options :

1. # Radial Line Development

2. % Parallel line Development

3. * Inclined line development

4. % Both Radial Line Development and Parallel line Development

Question Number : 176 Question Id : 60092911543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad o § fergest va fies auT U as g8 S 9@ &1 a9 & foTe fasar Sirar g2
Options :

1. % 3Ry v fasra

2. ¢ FHMIR QT fdebra



3. % 3{d 391 fae™
4. % IR YW fIp™T 3R FHMIR 34T fdprg gl

Question Number : 177 Question Id : 60092911544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is correct?

Options :

1. ¥ Atmospheric Pressure = absolute Pressure -Vaccum Pressure
2. ¥ Absolute Pressure = Atmospheric Pressure - Vaccum pressure
3. # Absolute Pressure =Vaccum pressure - Atmospheric Pressure

4. ® Vaccum Pressure - Absolute Pressure = Atmospheric Pressure

Question Number : 177 Question Id : 60092911544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad 3 3 o 9 agd 82

Options :

1. % qRIHS e = RU& g9 - afd g
2. ¢ RO 19 = gy e - Fafd are
3. % fR0g g9 = Fald g« - IgHe ™ a|
4. % f4a7d 19 - FRU& T6 = IgHS aTd

Question Number : 178 Question Id : 60092911545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is not a reaction turbine?
Options :

1. ® Francis turbine

2. # Kaplan turbine

3. ¥ Pelton wheel turbine



4. ® Propeller turbine

Question Number : 178 Question Id : 60092911545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafea o 9 e siftifrar eafe et 32
Options :

1. % IR Taiga

2. % B edigT

3. ¢ Ueed ®1d CaigH

4. ® IR caig

Question Number : 179 Question Id : 60092911546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Slip of a Reciprocating Pump is Negative when the pump is running at high speeds and
Options :

1. ¥ Suction Pipe is long and delivery pipe is short
2. ® Deliver pipe is long and suction pipe is short
3. # Both suction and delivery pipes are long

4. ® both suction and delivery pipes are short

Question Number : 179 Question Id : 60092911546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SId U o T1fd T I 38T 81 3R 81 O UImTH! UY &) f&TU HomdHs il ]|
Options :

1. ¢ JaH U3y @ § 3R fSeitast sy Bt §

2. % fSclter U3y el § SR JavH Uy Bidl 8

3. % oM 3R feciast urgy g el §

4. % FoRM R fEcfiadt ugu gHi Bt §




Question Number : 180 Question Id : 60092911547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the Mach number is less than 1 then the flow is
Options :

1. # Supersonic
2. ¥ Subsonic
3. % Sonic

4. % Hypersonic

Question Number : 180 Question Id : 60092911547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e U |1 1 A HY ¢ ol UdTe gl
Options :

1. ® RIEHB

2. GIHIHD

3. % @Gie

4. ® GRWRAMND
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Question Number : 181 Question Id : 60092911548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Orifice meter works on same principle as
Options :

1. #* Pitot tube

2. ¥ Venturimeter

3. %* Draft tube

4. ¥ Manometer

Question Number : 181 Question Id : 60092911548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aifefpammd & TAH Rigid W &1 a1 g |
Options :

1. ® grgec Aat

2. ¢ IR



3. % U AfThT
4. % TR

Question Number : 182 Question Id : 60092911549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Speed of turbine, operating under one meter head is

Options :
1. ¥ N/H
2. % \N/H
3. % HAN
4. ¥ NAH

Question Number : 182 Question Id : 60092911549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HieR 88 & HId Ia- a1 caig &1 i gl
Options :

1. ¥ N/H

2. % \N/H

3. ¥ HAN

4. ¥ NNH

Question Number : 183 Question Id : 60092911550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When the positive terminal of D.C welding Machine is connected to the work then the setup is said to have

Options :

1. ¥ Straight polarity

2. # Positive Polarity

3. % Negative Polarity

4. ¥ Reverse polarity



Question Number : 183 Question Id : 60092911550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S1§ D.C afcE A= &1 YIS i 1A 9 S[ST 8idl & df Jesd & g HgT STl g |
Options :

| v et syt (@ Tk

2. % YIHS YdIgar (urifed draiel)

3. % FBUMTHESD Yaradl (ANfed draifkeh)

4. % Iohd yaragar (Rad deiike)

Question Number : 184 Question Id : 60092911551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A number of evenly spaced holes in a regular pattern are to be cut on a metal sheet. Which of the following operation is suitable for required
results?

Options :

1. # Lancing

2. # Punching
3. ¥ Perforating
4. # Notching

Question Number : 184 Question Id : 60092911551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 31 Yte R it Ted & 0 =0 3 &3 Sal ®I diel ol o | Fofafad & & & I TR e gRomdl & i Suged 82
Options :

1. % off¥

2. % g (Ufim)

3. ¢ IRBRIET

4. % et



Question Number : 185 Question Id : 60092911552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The property of sand which allows flue gases to pass through the mold is called

Options :

1. # Plasticity

2. % Adhesiveness
3. ¥ Porosity

4. % Cohesiveness

Question Number : 185 Question Id : 60092911552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X 1 98 T0T S UL 711 bl i) & ToRRA T §, S EZ SIS
Options :

1. % eyt

2. % TSpyasy

3. ¥ IDIRT

4. % GO (Fefia1ed)

Question Number : 186 Question Id : 60092911553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Number of pairs in a kinematic chain is 7 then it has

Options :

1. ¥ 10 links
2. # 12 links
3. # 14 links
4. #* 7 links

Question Number : 186 Question Id : 60092911553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T TSt ST o gt o) TR 7 7 Y 39 SR
Options :

1.¥ 10 Pal

2. % 12Hal

3. % 14Dbol

4. % 7Hal

Question Number : 187 Question Id : 60092911554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number of links in a mechanism is 5 then the number of instantaneous centres is
Options :

1. % 12

2.9 10

3.%5

4. % 15

Question Number : 187 Question Id : 60092911554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U o H Hisdl Bl T 5§ af dIchIieih gl ol TS gl
Options :

1. % 12

2.910

3.%5

4. % 15

Question Number : 188 Question Id : 60092911555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The ball and socket joint is a complete example of
Options :

1. ¥ Spherical pair
2. % Roller Pair

3. % Turning Pair
4. # Sliding Pair

Question Number : 188 Question Id : 60092911555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

id 3R Hibe Siige EAURE VRS
Options :

1. ¢ MATHR el

2. % AR Slle!

3. % T Se)

4. % WSS SIE!

Question Number : 189 Question Id : 60092911556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The value of thermal conductivity 'k' for non metallic solids is

Options :

1. ¥ lower than metals
2. ¥ more than metals
3. % equal to metals

4. % zero

Question Number : 189 Question Id : 60092911556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
31T 31 o oY SSHT ATeiehll 'k’ T A gl



Options :

1. ¢ Y1g3fi 4 »Y
2. % yrgaf ¥ 3w
3. % YTqaf o SRR
4. % Y

Question Number : 190 Question Id : 60092911557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A material which reduces heat flow with reasonable effectiveness is called
Options :

1. #* conductor
2. * semiconductor
3. % insulator

4. # super conductor

Question Number : 190 Question Id : 60092911557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ARl S Iferd guTaRiad & A1y ™1 & UaTg $F &H Bl § 34 EHIGI
Options :

1. ¥ Hedex

2. % 3fefaTci®

3. ¢ fagga]ieh

4. % JffcTeiehdl

Question Number : 191 Question Id : 60092911558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nusselt number is given as

Options :



1. ¥ hl/k
2. % p/k
3. % pvl/u
4. % Ik/h

Question Number : 191 Question Id : 60092911558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tee T FETH R B
Options :

1. ¥ hl/k

2. % wk

3. % pvl/u

4. % 1k/h

Question Number : 192 Question Id : 60092911559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gantt chart is used for

Options :

1. ¥ production schedule
2. # production control
3. % inventory control
4. # cost handling

Question Number : 192 Question Id : 60092911559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T e &1 I & forg fpan ST 3|

Options :

1. ¢ J1G gl



2. % Idred fFaau
3. % Iy vy

4. % ANTd YdeH

Question Number : 193 Question Id : 60092911560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Exchange value is defined as:

Options :

1. # Cost value - Esteem value

2. % Use value - Esteem value

3. % Cost value + Esteem value

4. « Use value + Esteem value

Question Number : 193 Question Id : 60092911560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafra geu g & &9 o ufuifyad forar man 6:
Options :

1. % e I - T deg,

2. % g9 I T deg,

3. ® Waﬁy&ﬁﬂaﬂ

4. ¥ Tl 97 + T 3

Question Number : 194 Question Id : 60092911561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following chart is used when attributre data, such as a count of the number of defect is the focus?
Options :

1. # X-chart

2. % R-chart



3. # P-chart
4. ¥ C-chart

Question Number : 194 Question Id : 60092911561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiead o 9 ford a1é &1 IUTT a4 T ST § e Tieer Sel, SR fs Ffe o1 T &t UM WR &1 dhfed 31 gl 82
Options :

1. % X3¢

2. % R-ATC

3. % paC

4. A

Question Number : 195 Question Id : 60092911562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is used for medium level enterprise?
Options :

1. # Job production

2. % Batch production

3. ® Continuous production

4. % Both Job production and Continuous production

Question Number : 195 Question Id : 60092911562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol § 3 forgeT I Hegd Wi IgH & forg fasan ST g2
Options :

1. % P IdTeA

2. ¢ 9 IdIeA

3. % fRR Idre



4. % BT IATE 3R FARER Iared gl

Question Number : 196 Question Id : 60092911563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an essential property for a good refrigerent?
Options :

1. ¥ High boiling point

2. # High critical temperature

3. * Non toxic

4. # High latent heat

Question Number : 196 Question Id : 60092911563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o 9 SF 91 sfey Ui & foTT STa=ae 07 761 62
Options :

1. ¢ 3= YD

2. % I pifdd dGHM

3. % TR SfIfQuTar

4. % I T VAT

Question Number : 197 Question Id : 60092911564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On a psychrometric chart sensible cooling can be denoted by a straight line parallel to
Options :

1. * Humidity

2. % Wet bulb temperature

3. ¥ Dry bulb temperature

4. % Dew point temperature



Question Number : 197 Question Id : 60092911564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARPHHACH dac W Hag e ol & JHFIR e 3@ gRT Fefid forar o 9 ]
Options :

1. % 3T

2. % 3% ded AYHM

3. ¢ Y ded dAIHAH

4. % 3f9i% quHHE

Question Number : 198 Question Id : 60092911565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Dew point depression is equal to the

Options :

1. ¥ Dry bulb temperature - Dew point temperature
2. % Dry bulb temperature + Dew point temperature
3. # Dew point temperature - Dry bulb temperature
4. # Dry bulb temperature - Wet bulb temperature

Question Number : 198 Question Id : 60092911565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3MTeb Sfaars & R A5
Options :

1. ¢ YD Sed dYAH - i fog amoae
2. % T Sod AU + 3Iidh dqaT

3. % 3% YA - Y[ Sed dIHTH

4. % Y[H Fod ATYHM - 31T ded dTIHH




Question Number : 199 Question Id : 60092911566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Break even point for a business is a point at which business is:
Options :

1. * Not making profit

2. # not incurring loss

3. ¥ Neither making profit nor incurring loss

4. % Making highest profit

Question Number : 199 Question Id : 60092911566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forft ararg & forg ary-sremy fRufa g foig giar & iory R sgawma gran g
Options :

1. % Ty 3ffofd T8l PH=ar

2. % JHYH gl ISHI

3.V A BIW@W e AT BI®I &

4. % Y TG ATY Sfid HIAT

Question Number : 200 Question Id : 60092911567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A critical path consumes

Options :

1. ¥ Minimum resources
2. % Maximum resources
3. # intermediate resources

4. ¥ some particular resources

Question Number : 200 Question Id : 60092911567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Ag@qUl gy B ITHIT FRAT g |

Options :

1. ® YAqH 99q1Y=
2. ¢ SfepaH FHIe
3. % Hqdl SH1e
4. % $ oy d91eH
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Question Shuffling Allowed : Yes

Question Number : 201 Question Id : 60092911568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The idea of dividing human activities into division of movement is known as:
Options :

1. ¥ Therbligs

2. # Stray diagram

3. # Hasley plan

4. % Break even analysis

Question Number : 201 Question Id : 60092911568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AMHa Tfafafiay &1 1fa & faure # fauifora =7 & faeR &1 g &9 & S1 o1 8:
Options :

1. ¢ Wl

2. % ¢ SOU™

3. % gl droT

4, % S o AR

Question Number : 202 Question Id : 60092911569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The shortest possible time in which an activity can be completed is known as:
Options :

1. ¥ Most likely time

2. % Pessimistic time

3. % Optimistic time

4. % (Critical time



Question Number : 202 Question Id : 60092911569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Sva gHy ford iafafy o o1 o o evdr €, 39 g T A S S R
Options :

1. % JHad: gy

2. % fRmEmaTd 5y

3. ¢ SRAETE JH

4. % Shifdd JHY

Question Number : 203 Question Id : 60092911570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For a square matrix the rank of matrix is equal to the number of:
Options :

1. ¥ Non zero Eigen values

2. % Eigen vector

3. % Number of column

4, % Number of rows

Question Number : 203 Question Id : 60092911570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I TG & T 3MTE 1 ¥ DI T 7 & SRR g
Options :

1. ¢ TR I SN ioe 7

2. % 3ffYeTIEifOres Fie=

3. % BIaq DI GEA

4. % AP B

Question Number : 204 Question Id : 60092911571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In work study '—' represents:

Options :

1. # Delay

2. # Inspection

3. % Transport

4. # Shortage

Question Number : 204 Question Id : 60092911571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& arergA H ' frg gRifar &:
Options :

1. # focid

2. % f3feror

3. ¢ URdgH

4. % HHI

Question Number : 205 Question Id : 60092911572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The assessment of performance of the operator by the time study man is known as:
Options :

1. ¥ Rating factor

2. % Observed time

3. % Actual time

4. # Average time

Question Number : 205 Question Id : 60092911572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3T B ITdl fed GRT TIRER P USRI P SH T ol Y BT 91l 8
Options :

1. ¥ IETHRS

2. % gHY BT ddich- [T T

3. % gRdidd gHY

4. % 3Td T

Question Number : 206 Question Id : 60092911573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

in an incompressible flow region the Mach number is:
Options :

1. ¥ M<0.3

2. % M>5

3. % M=1

4. % M>10

Question Number : 206 Question Id : 60092911573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T iUy UaTs &4 1 7% 981 6:
Options :

1. ¥ M<0.3

2. % M>5

3. % M=1

4, % M>10

Question Number : 207 Question Id : 60092911574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The force which initially propel the rotor at a given speed is called




Options :

1. % Thrust

2. % Propulsion force

3. # Lift

4. ¥ Both Thrust and Propulsion force

Question Number : 207 Question Id : 60092911574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 9 ol URH | A% 1 3 Aex &1 9Rd w5, S SIS
Options :

1. #® Y

2. % Yulle &1

3. % o

4. ¢ YR SR YUle g il

Question Number : 208 Question Id : 60092911575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a turbofan jet engine the bypass factor is given by
Options :

1. ¥ Mass of cold air/Mass of hot air

2. % Mass of cold air x Mass of hot air

3. % Mass of cold air + Mass of hot air

4. # Mass of cold air - Mass of hot air

Question Number : 208 Question Id : 60092911575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tqth oI S H SR thaex g fear Sar 3|
Options :




1. ¢ 331 891 BT GUHH/ATH §a1 BT GUHH

2. % 33 g1 BT GTHM x TH g1 BT GUHH
3. % 381 gaT BT SToTHH + TTH gl HI GoTHH
4. % 33) 1 BT GUHM - TTH gl BT GTHH

Question Number : 209 Question Id : 60092911576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A device which is used to increase the pressure and reduce the velocity of a fluid is known as:
Options :

1. # Nozzle

2. ¥ Diffuser

3. #% Orifice meter

4. % Pitot tube

Question Number : 209 Question Id : 60092911576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T IUBHRU FSTIhT IUTNT 59 BT &9 I 3R AT P HH B &b Y fha1 Srar g, 39 9 Fe1 Sar e:
Options :

1. % et

2. ¢ {qURS

3. % Y AN

4. % grgcc Tl

Question Number : 210 Question Id : 60092911577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an extensive property?
Options :

1. # Density



2. # Pressure
3. ¥ Total energy

4. # Temperature

Question Number : 210 Question Id : 60092911577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e # & o a1 sifaRTds TureH 82
Options :

1. # Ydd

2. % qld

3. ¢ HA Sl

4, % dIqHA

Question Number : 211 Question Id : 60092911578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A spring mass system with mass 4 kg and spring constant 'k' = 1600 N/m has the initial displacement x,= 0. The maximum initial velocity that
can be given to mass without amplitude of free vibration exceeds a value of 0.1m is

Options :
1. % 7m/s
2.9 2m/s
3. % 4m/s
4. % 3m/s

Question Number : 211 Question Id : 60092911578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GHAM 4 kg 3R HHMT FRRI® 'k' = 1600 N/m & 1Y HHT STHT TOMTE BT RIS ORI x.= 0 | MHad TRMNS 377 S ad ud
& ST P o1 SHHH P a1 S FHaT g, 0.1m P HH 9 e &, I8 o

Options :

1. % 7m/s




2.% 2m/s
3. % 4m/s
4. % 3m/s

Question Number : 212 Question Id : 60092911579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the frequency of external excitation is equal to the natural frequency of the body, the amplitude of vibration becomes large. This concept is
known as

Options :

1. # Damping

2. # Phase difference
3. % Resonance

4. # Critical damping

Question Number : 212 Question Id : 60092911579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TR JoH1 &1 ST U &1 Tidhfad Safl & SRIER 8141 &, Al HU- BT SHTATH §S1 81 91l & | 3 SHTUROT B &
=0 H ST ST 8

Options :

1. % 3{dH<qA

2. % hdldX

3. ¢ IS

4. % PHifdd fdH<G

Question Number : 213 Question Id : 60092911580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a reaction turbine the expansion of steam over blades represents

Options :

1. # Isothermal process



2. % Isobaric process
3. # jsochoric process

4. ¥ Isentropic process

Question Number : 213 Question Id : 60092911580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ifforar cafs & &g W UIY &1 fawR &1 Rl SR 5|
Options :

1. % GHATG UshH

2. % GHCTEY UshH

3. ® GRS UshH

N A N

4. ¢ JHUCI[Udh UchH

~

Question Number : 214 Question Id : 60092911581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a reaction turbine a stage is represented by

Options :

1. ¥ Each row of blade

2. ® Alternate row of blade

3. % No. of casing

4. ® Both Each row of blade and Alternate row of blade

Question Number : 214 Question Id : 60092911581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfafspar catg— H TR & FRERICIRSIRIE]

Options :
1. ¥ &S T IAD A

2. % S BT dbedp A




3. % 30T I H=AT
4. % SIS BT UAD A 3R KNS BT dbIedD A gl

Question Number : 215 Question Id : 60092911582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Draft tube is used to have the pressure at runner outlet

Options :

1. # Above the atmospheric pressure
2. ¥ Below the atmospheric pressure
3. # Equal to the atmospheric pressure

4. % More than the gauge pressure

Question Number : 215 Question Id : 60092911582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STUE TYd HT JUIANT IR 3T W 319 X & fore fan sar g
Options :

1. % qYHSHN &1d ¥ HW

2. ¢ qIgHS A GId & A

3. % gIgHSAIT g1d & SRIR

4, % T A6 Y AP

Question Number : 216 Question Id : 60092911583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A closed cycle gas turbine works on

Options :

1. ® Ericsson cycle
2. % Otto Cycle

3. % diesel cycle



4. ¥ Brayton cycle

Question Number : 216 Question Id : 60092911583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U §¢ T 19 eafz R HH BB
Options :

1. % TR Ish

2. % 3T Ah

3. % Sl b

4. S Ib

Question Number : 217 Question Id : 60092911584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A closed cylindrical thin shell is subjected to internal pressure. The tensile stress acting in the direction of axis is called

Options :

1. # Circumferential stress
2. ¥ longitudinal stress

3. ® Hoop stress

4. ¥ Yield stress

Question Number : 217 Question Id : 60092911584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP §¢ SATHR Uddl HTaRUI Bl TR a1d & e fopar T g1 37ef i fozn & srikg d=aar ufdad &! CIRSIGIG
Options :

1. % uRkefia ufaed
2. ¢ e ufdea
3. % gUyfdad

4, % TRIYG Uldad




Question Number : 218 Question Id : 60092911585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When steam is carried out by pipes at high pressure then pipes are joined by means of

Options :

1. % Socket

2. % Union

3. % Expansion Joint
4. % Spigot joint

Question Number : 218 Question Id : 60092911585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O§ 3 g6 IR UISUl gIRT HTY g8+ fodT STt § af ursal &l & HIeOH T SNST ST 5 |
Options :

1. % e

2. % GOSH

3. ¢ THURA Sigc

4, % fQe Sige

Question Number : 219 Question Id : 60092911586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Thickness of a thin spherical shell subjected to internal pressure is given by:
Options :

1. ¥ pd/do

2. # o/dpd

3. # p/dot

4. # pd/c

Question Number : 219 Question Id : 60092911586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R a1d & el Tdd MATHR SHTARUI &1 AIeTs 9 §RT & Sl &:
Options :

1. ¥ pd/do

2. # o/dpd

3. ¥ p/dot

4. % pd/o

Question Number : 220 Question Id : 60092911587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The thickness of a thin cylinder is determined on the basis of
Options :

1. * Torsional stress
2. * Shear strain
3. % circumferential stress

4. # longitudinal stress

Question Number : 220 Question Id : 60092911587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uda 9 &1 HieTs F 3R W Fuia ot o g1
Options :

1. ® I8l (@RI ufded

2. % UL fAudie

3. ¢ ORI gfdaad

4. % 3¢ ufdea
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Question Number : 221 Question Id : 60092911588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Lame's equation which is used to find the thickness of the cylinder is based on
Options :

1. # Maximum shear stress theory
2. % Maximum principal strain theory
3. % Maximum shear strain theory

4. ¥ Maximum principal stress theory



Question Number : 221 Question Id : 60092911588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A BT FHIHRUT, foITeT SUTNT S &1 HieTs I1d &3 & fore faran ST g, R ATURA B
Options :

1. % 3ff¥Hay ey ufaad Rigid

2. % 3ffYHad g T Rigid

3. % Jfpan srueur fAufis Rrgid

4. ¢ Hf¥Had ygE uldad Rigid

Question Number : 222 Question Id : 60092911589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The relation between Gain, Amplitude of response and Input is given by

Options :

1. #® Gain = Input/Amplitude of response
2. ¥ Gain = Amplitude of response/Input
3. # Input = Gain /Amplitude of response
4. % Amplitude of response = Input/Gain

Question Number : 222 Question Id : 60092911589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afedr, ufaforan & S iR 37Yc & & & T oI R e T g
Options :

1. % i = SAYc/ufdichar &1 e

2. ¢ A = UidfohdT &1 3AMH/2ge

3. % YT = A / Ufafhan &1 e

4. % Yfdfdar o1 A = gAYc/dfs



Question Number : 223 Question Id : 60092911590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A system in which the output has an effect on input is called

Options :

1. # Open loop system

2. % No feedback system

3. % Closed loop system

4. % Both Open loop system and No feedback system

Question Number : 223 Question Id : 60092911590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YUTTel) i 33Ty &1 37YE IR UHIG USdl g, 39 CISIGIE
Options :

1. % faqd qu f=

2. ® s ufafear gomel g}

3.« Hqd uT dF

4. % faga qu o= 3R w13 ufafdar vome 78t gt

Question Number : 224 Question Id : 60092911591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A functional industrial robot typically have

Options :

1. # 3 degrees of freedom
2. ® 2 degrees of freedom
3. % 4 degrees of freedom

4. ¥ 6 degrees of freedom

Question Number : 224 Question Id : 60092911591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

IS MNfIE Ade H AR W glargl
Options :

1. % 3fdgdl i 3 feilt

2. % 3l ol 2 fSil

3. % 3fdgdl bl 4 f&h

4. Gl Bl 6 fSI

Question Number : 225 Question Id : 60092911592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Robot designed by Cartesian coordinates has
Options :

1. ¥ Three linear movements
2. % Two linear movement
3. ¥ Two rotational movements

4. ® One linear and one rotational movement

Question Number : 225 Question Id : 60092911592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I R FER® gRT feosH g e Asie # BId gl
Options :

1. ¢ A ¥Ra T

2. % QRIS i

3. % g guff fa

4. % U Qb 3R T goif 71fd

Question Number : 226 Question Id : 60092911593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



An essential work done by an actuator in a machine is

Options :

1. # Sending signals

2. % Moving and controlling a system
3. # Collecting feedback

4. % Supply Energy

Question Number : 226 Question Id : 60092911593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=i | Tarae gR1 fohar S aTelr 3o B 2
Options :

1. % Rad 9o

2. TS YU ! RIFTAR BT 3R FafHa &
3. # gfafear teiAd &A1

4. % MYfd SHoll

Question Number : 227 Question Id : 60092911594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A device which is used to measure the total hemispherical radiation is known as

Options :

1. # Pyrheliometer
2. ¥ Pyranometer
3. # Galvanometer

4. % Sunshine recorder

Question Number : 227 Question Id : 60092911594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP JUHRUI FoTIhT ST Hd STEFMATdR fafdor &1 A= & fo foran smar g, & = H ST ST 8 |

Options :




1. % y-fafeor amdt (arRfeandiey)
2. ¢ TR

3. % YRTATY

4. % AR Npie

Question Number : 228 Question Id : 60092911595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When the radiation is falling on a body then the sum of Absorptivity, Reflectivity and Transmitivity is given as

Options :

1. % -1
2.%0

3.¢ 1

4. # Infinity

Question Number : 228 Question Id : 60092911595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ore fafes=ur fopedt fiis o R B df sraxiyor, wRiac 3R Jowufiedr &1 i &y ¥ fegr S g
Options :

1. % -1

2.%0

3.¢1

4. % 3Fd

Question Number : 229 Question Id : 60092911596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The change in speed of the wind with its height is known as

Options :
1. ¥ Wind shear



2. # Total change
3. % Shear change
4. ¥ Actual change

Question Number : 229 Question Id : 60092911596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T SdTs & 1Y AT & el & IR Bl & U H THE A8
Options :

1. ¢ Uad R

2. % Hd URTdA

3. % TR URaaH

4. % JRAMAD YR

Question Number : 230 Question Id : 60092911597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Flash steam plants are the parts of

Options :

1. ¥ Geothermal Energy
2. % Wind Energy

3. ¥ Hydro Energy

4. % Solar energy

Question Number : 230 Question Id : 60092911597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS T Wied F U B
Options :

1. ¢ AU Sl

2. % Uqd Sl



Question Number : 231 Question Id : 60092911598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Any form of precipitant with acidic components such as sulphuric acids or nitric acids which falls on the ground in wet or dry form is called

Options :

1. #* Precipitation rain
2. % Acid rain

3. % Basic rain

4. % Acid fall

Question Number : 231 Question Id : 60092911598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T T I TTRIGHTI I ATSfed 3T & 1Y FAUD HT his Ht U Sl 317 a1 b 7y H w9 R fRar g, 39 G|
ST g |

Options :

1. % ggur (Ufdtesr) auf

Question Number : 232 Question Id : 60092911599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an air pollution control equipment?
Options :

1. # Fabric filter

2. % Spray dryers



3. ¥ Reformer
4. ¥ Wet scrubber

Question Number : 232 Question Id : 60092911599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafifad o | 1 a1y Uguur Fg=r IusRur el 22
Options :

1. # HUST A

2. % IR

3. ¥ JYRD

4. % 3fTE THER

Question Number : 233 Question Id : 60092911600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PM.o refers to particles:

Options :

1. ¥ Less than or equal to 10 pm

2. # Less than or equal to 10 nm

3. # Less than or equal to 10 mm

4. ® Less than or equal to 100 nm

Question Number : 233 Question Id : 60092911600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PM,, G 0T &1 T fifd e ©:
Options :

1. ¢ 10 pm I ®H T 3P SRR

2. % 10 nm ¥ HH I 3D SRI&R

3. % 10 mm Y HH I 3P SRR




4. % 100 nm Y HY IJ1 IYb S

Question Number : 234 Question Id : 60092911601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an approach to fracture analysis?
Options :

1. ¢ Stress intensity approach

2. % Crack extension

3. % Fracture mechanics

4. ® Damage Tolerance

Question Number : 234 Question Id : 60092911601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & & o 1 Ihaer fa=evo & foe Iurm g2
Options :

1. ¥ TG el SUNTH

2. % e fawR

3. % ThaeR it

4. % JHYM JgA=iTerdl

Question Number : 235 Question Id : 60092911602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is R ratio in fatigue cracking?

Options :

1. # Ratio of the maximum stress to the minimum

2. ¥ Ratio of the minimum stress to the maximum

3. # Ratio of the maximum ductility to the minimum

4. % Ratio of the minimum ductility to the maximum



Question Number : 235 Question Id : 60092911602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sfifct hfeh T T R SIUTd T 62

Options :

1. % 3ffehdd gfdad I gAdH Ufdad &1 3a1d
2. ¢ FAqH Ufded T Hfehdd ufdad BT 3urd
3. % UG I=UaT ¥ AdH =l b1 3T
4. % AGH Id1 Y HAHTT T BT 3T

Question Number : 236 Question Id : 60092911603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When is a weldment said to be overmatched?

Options :

1. ¥ Weld metal has higher elastic constant than the base metal.
2. % Weld metal has lower elastic constant than the base metal.
3. ¥ Weld metal has higher strength than the base metal.

4. % Weld metal has lower strength than the base metal.

Question Number : 236 Question Id : 60092911603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS (esHT) B B Soile BT Sl 82

Options :

1. % 908 YT H Garud oTd & ga-1 | % daeR RIS gar gl
2. % 968 YT B Yayd U1 &1 I H HH AeR RRIG i g |

3. ¢ 368 UTg ® HaYd U1 &1 ga1 § 3ifere a1 gt ]

4. % T8 YT H JaYd UTd B g1 & HH ardbd sl g




Question Number : 237 Question Id : 60092911604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The acceleration of fatigue crack growth due to interaction with the environment is called
Options :

1. # Crack fatigue

2. % Corrosion fatigue

3. # Environmental cracking rate

4. % Fatigue threshold

Question Number : 237 Question Id : 60092911604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRl & Y 3d:fhar & HRUT 4ifd b gfg & @Rur Y CaASIGI
Options :

1. % &b yifd

2. ¢ &Rl Hifd

3. % qafeRUig b &

4. % gfifdy I=Meg

Question Number : 238 Question Id : 60092911605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the essential function of control rods in a nuclear reactor?
Options :

1. ¥ Absorb excess neutron

2. ®% Absorb excess proton

3. # Reflect all the neutrons

4. % Control Temperature

Question Number : 238 Question Id : 60092911605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 o a1 A Yt § R 58 &1 Sawad B 82
Options :

1. ¢ SHfaRed el B Sa=Nftd drAl

2. % HfARa Ui B RN BT &

3. % uft i ! RIafcdd BT

4. ® fg=01 AqEE

Question Number : 239 Question Id : 60092911606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A nuclear reactor operation is said to be critical if the value multiplication factor 'k' is eqaul to

Options :

1. %0

2.% 1

3.% 10

4. # less than 1

Question Number : 239 Question Id : 60092911606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TRATY] TR IR HI HEAYU! Bl Sl § fe T T0H HRB k' & R B
Options :

1. %0

2.9¥ 1

3.% 10

4.% 19HH

Question Number : 240 Question Id : 60092911607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Poisson's ratio is defined as:

Options :

1. ¥ Lateral strain/Longitudinal strain
2. ® Longitudinal strain/Lateral strain
3. # Shear stress/Shear strain

4. % Shear strain/shear stress

Question Number : 240 Question Id : 60092911607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WY 3ATd &1 39 UHR TR fopar T 8

Options :

1. ¢ U fAuftes/em e fFuftes

2. % 3rjced fAufies / uref fAwdftes

3. % U=l yfded (FRRR W)/ sg&=qur fAsdte (RrR )
4. % U (e (RRR XAy (T=qu ufdead (RRR W)
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Question Shuffling Allowed : Yes

Question Number : 241 Question Id : 60092911608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The ratio of the actual length of the column to the least radius of gyration is called
Options :

1. # Poisson's ration

2. ¥ Bulk modulus

3. % Slenderness ration
4. % Modulus of rigidity

Question Number : 241 Question Id : 60092911608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP B IRAfdP AaTg 3R 3Mac Bt Aad a1 & 0T &1 ARG
Options :

1. % QN IRMA

2. % YA YATRIAT HIUTH

3. ¢ T IR

4. % HAERAI DI Ui




Question Number : 242 Question Id : 60092911609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When a beam is subjected to bending the neutral axis experiences

Options :

1. ¥ Maximum stress
2. % Bending stress

3. % Compressive stress
4, ¥ Zero stress

Question Number : 242 Question Id : 60092911609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STd S P TR 3Hal P Fb1d & AP fovam St g ol BT 3IHT PRAT |
Options :

1. % 3fgepdd Ufdea

2. % §p Ufded

3. % guifed ufdea

4. ¥ R Ufdad

Question Number : 243 Question Id : 60092911610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The study of principles and methods of transforming an unintelligible message back into an intelligible message without knowledge of the key is
called .

Options :

1. ¥ Cryptanalysis

2. # Cyber Security
3. % Steganography

4. # Digital watermarking

Question Number : 243 Question Id : 60092911610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P &b I P T SEIRTRT TR DI SR o= H G: Faa o Riiall 3R faferdl & sreaa & EHISIGIE
Options :

1. ¢ Tglafufa=eyor

2. % IR GR&M

3. % LURTH!

o O\

4. % T&fored arexanfd

Question Number : 244 Question Id : 60092911611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a category of security services?
Options :

1. # Authentication

2. # Confidentiality

3. ¥ Access control

4. ¥ Repudiation

Question Number : 244 Question Id : 60092911611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrofefad o 9 i A gRem Yarsii o1 9ot 781 82
Options :

1. % SffyHIOA

2. % TG

3. % 3fftprd gz

4. ¥ GREM

Question Number : 245 Question Id : 60092911612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Rama tried to wire tap to capture data in the network. What is this process called?
Options :

1. #* Interruption

2. ¥ Interception

3. ¥ Modification

4. % Fabrication

Question Number : 245 Question Id : 60092911612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A AT | ST HER R b 17T IRR U P BT YA o1 | 59 Ulehdn &1 1 gl oiidl 62
Options :

1. % HHHT

2. ¢ RIYA

3. % gRadA

4. % O

Question Number : 246 Question Id : 60092911613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person from North Korea inserted spurious message in a network. What is this process called?
Options :

1. # Interruption

2. # Interception

3. % Modification

4. ¥ Fabrication

Question Number : 246 Question Id : 60092911613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 247 Question Id : 60092911614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an 8-bit gray scale image, what is the maximum value of a pixel?
Options :

1. % 127

2. % 128

3. 9 255

4. % 256

Question Number : 247 Question Id : 60092911614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8-foe I o ofa A, feaa &1 siffieay A S giar 82
Options :

1. % 127

2. % 128

3. ¥ 255

4. % 256

Question Number : 248 Question Id : 60092911615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the decimal code for red colour?
Options :



1. ¥ (255,0,0)
2. % (255,255,255)
3. % (0,255,0)
4. % (0,0,255)

Question Number : 248 Question Id : 60092911615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tl 07 T SR[HTd B 1 2

Options :

1. ¥ (255,0,0)

2. % (255,255,255)

3. % (0,255,0)

4. % (0,0,255)

Question Number : 249 Question Id : 60092911616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many masks does Prewitt operator provide?
Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 249 Question Id : 60092911616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e SifoReR fohd= ARe UG $=dl o7
Options :

1. %1

2.9 2



3.% 3
4, % 4

Question Number : 250 Question Id : 60092911617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a property of derivative mask?
Options :

1. # A derivative mask have positive and as well as negative values
2. # The sum of all the values in a derivative mask is equal to zero
3. # The edge content is increased by a derivative mask

4. ¥ As the size of the mask grows , more edge content is decreased

Question Number : 250 Question Id : 60092911617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifad 3 @ #1F a1 SRafed AR &1 qur gl 22

Options :

1. % U gId (SRafed) ARG H TS 3R I1Y & BUMTHAS Jed 81d &
2. % OF (SRafeT) ARe T Tt A1 &7 1T R & SRI6R 8IdT §

3. % TS qrUl (@de) &l gad (SRAfed) ARG gRT ST oildl §

4. ¢ S-S UG BT ATHR Tl g, ToT T (@) HH gia ol 8

Question Number : 251 Question Id : 60092911618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a type of electric drives?
Options :

1. #® Group drive

2. # Individual drive

3. ¥ Single-motor drive



4. ¥ Multi-motor drive

Question Number : 251 Question Id : 60092911618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed # I &9 91 U TR &1 faggd g5d el 82
Options :

1. % gUgled

2. % FfSfaqera grgd

3. ¢ RTTa-AIeR g18d

4. % Mol HIeR 8134

Question Number : 252 Question Id : 60092911619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an advantage of group electrical drive?

Options :

1. ¥ In group drive we require one machine with high capacity for to control the group of machines.

2. % In group drive speed control of individual machine is difficult using stepped pulleys, belts etc..

3. ® The possibility of installation of additional machines to the existing system in group drive is limited

4. ® If a fault occurs in the main machine then all the operations will be effected.

Question Number : 252 Question Id : 60092911619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied o @ & 91 99g faggd S1%d &1 a1v g2

Options :

1. ¢ U g13a # gH TRiHl & g & FufEd & & e S=1 eid1 arcl! T H=fF &1 Sa=adhdi il g |
2. % YU 15 H TS T, UEST 311G o SUTNT J S-S HRIH &1 71t Fifd S glRea gl g

3. % 70 3139 | Aelal yurelt # sifafad A=i=! &1 RO & SH1a-1 Hfid §

4. % g Tog wRiF O DI TRIET STl € o Tt SiTaR=e wvifad g1




Question Number : 253 Question Id : 60092911620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Single-spindle drilling machine is an example of which electrical drive?
Options :

1. # Group drive

2. ¥ Individual drive

3. #* Single-motor drive

4. % Multi-motor drive

Question Number : 253 Question Id : 60092911620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ria-Risa fefe =it fow fagga gz &1 3arru g2
Options :

1. ® YU gltd

2. ¢ S&fav]erd grgd

3. % Ra-AieR grEd

4. % ol AR S12d

Question Number : 254 Question Id : 60092911621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of single phase induction motor?
Options :

1. # Double cage

2. # Squirrel cage

3. % Repulsion motor

4. # Slip commutation motor

Question Number : 254 Question Id : 60092911621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafafed # § &1 91 Ued el SUSTRM HIR &1 3aTaR0l 82
Options :

1. % Sqd Dol

2. % WHRA bl

3. ¢ UfdpyU Hier

4. % U $RICYA AR

Question Number : 255 Question Id : 60092911622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In order to compensate the low flux density, what should the primary current applied to the primary winding have?
Options :

1. ¥ High frequency

2. # Low frequency

3. ¥ High flux

4. % Low flux

Question Number : 255 Question Id : 60092911622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fYaTE o BT RS & o, TTufies arfET iR a8 ardl! wufies oRT & &1 811 anfgy?
Options :

1. ¢ 3= g

2. % {49 smaft

3. % 37 3ifHdT8

4. % g 3fftrarg

Question Number : 256 Question Id : 60092911623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which type of charts are useful for planning and scheduling projects?
Options :

1. # Scatter Plot

2. ¥ Gantt Charts

3. % Pie Chart

4. % Treemap

Question Number : 256 Question Id : 60092911623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T&T & ST SR THg-FyRor & fore iy goR & a1c Swint &2
Options :

1. % Uil oRE

2. ¢ Tfeare

3. % U A

4. % Y

Question Number : 257 Question Id : 60092911624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a not an advantage of effective communication?
Options :

1. # Establish long-term partnerships

2. % Creates a sense of trust

3. % It renders one unapproachable

4. ¥ Positive energy is generated

Question Number : 257 Question Id : 60092911624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % i qrEieR) RIfd Har g
2. % 3T B UG Va1 HRAT 2

3. ¢ Ug U 3T U Sl &

4. % JHRIAD SHoll 3 8ldl §

Question Number : 258 Question Id : 60092911625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the US people usually point with the index finger. In Japan and in India, it is considered rude. What factor of nonverbal communication does it
depict?

Options :

1. # Body language

2. # Facial expressions

3. % Appearance

4. ¥ Culture

Question Number : 258 Question Id : 60092911625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

US § N THIR TR doi-t 9 SART Hd & | ST 3R HRA &, 38 3G HHT 9I1d1 ¢ | T8 3Mfecd YR & b PR® P S2idl 82
Options :

1. % RIS YT
2. % g & gIaHd
3. % fq@rae
4. GEpfA

Question Number : 259 Question Id : 60092911626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
barriers to communication may result from personality conflicts, poor management, resistance to change, or a lack of motivation.



Options :

1. # Perceptual

2. % Physiological
3. ¥ Attitudinal
4. # Physical

Question Number : 259 Question Id : 60092911626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JIR | ST HfFIcd T, TR Jao=, URad & oI UfaRie a1 T-1uRon ot BT b GRUTFRGT gl Jhdt g |
Options :

1. % 3{dTH

2. % YRING

3. % dgR

4. % Wfas

Question Number : 260 Question Id : 60092911627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a part of hydroelectric power plant?
Options :

1. # Dam

2. # Reservoir

3. % Power plant

4. ¥ Reactor

Question Number : 260 Question Id : 60092911627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed #  ®19 STafdggd urar T &1 fewa 61 82

Options :




1. % §7Y
2. % SR
3. % QoY a4

4. ¢ RTaR
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Question Number : 261 Question Id : 60092911628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A uses optical sensors to detect flames at the flame stage of fire.
Options :

1. ¥ Flame detector

2. # Heat detector

3. % Photoelectric detector

4. ¥ Smoke detector

Question Number : 261 Question Id : 60092911628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

LE7 SITT H1 Tl AT T ST PI AUC! BT Ul T o [T AP H e YR BT ST Bl 5 |
Options :

1. ¢ & Sgad

2. % W YYADh

3. % YD fagyd Igash

b

Question Number : 262 Question Id : 60092911629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following buildings fall under high fire hazard?
Options :

1. % Schools

2. ¥ Chemical factories

3. # Residential buildings

4. % Offices

Question Number : 262 Question Id : 60092911629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fraffEd & 9 S1F-91 Yo 31 3T % X & SM1d1 82
Options :

1. ® fqgre™

2. ¢ IOAAS HREM

3. % 3G Haq

4, ® HITaal

Question Number : 263 Question Id : 60092911630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a disadvantage of solar cell and solar panel?
Options :

1. # Reduces Electricity Bills

2. # Low Maintenance Costs

3. % Uses a Lot of Space

4. % Renewable Energy Source

Question Number : 263 Question Id : 60092911630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEfRed & ¥ 319 IR I IR UR Ud BT (e 52
Options :

1. % fooch fod o axar g

2. % 49 T@mE AT

3. ¢ 9gd WY &1 ST R §

4. % 3&d Holl Hid

Question Number : 264 Question Id : 60092911631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not an objective of Smoke Control Systems?



Options :

1. #® To keep escape roots free from smoke

2. % To reduce toxic gases and fumes

3. # To reduce thermal damage of building during fire

4. ¥ To speed up full development of fire

Question Number : 264 Question Id : 60092911631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafead & | B g g7 ol &7 SR e 39
Options :

1. % Y o AR ! YU I o @1

2. % SRR T SIR YU DI HH BT

3. % 3N P GRIF YA $! A0 &l BT HH BT

4. W% Ul fqemry § ofsh

Question Number : 265 Question Id : 60092911632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a situation in which too many people live in too little space.
Options :
1. ¥ Overcrowding
2. # Housing
3. # Urban Sprawl
4. % Squatter Settlements

Question Number : 265 Question Id : 60092911632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U U & Forae 98 9 @M 9gd 3 oRTg H X8 & |

Options :



1. ¢ JfAURTT

2. % AN

3. % gl Barg

4. % YR ST

Question Number : 266 Question Id : 60092911633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a solution to resolve urbanization issues?
Options :

1. # Building Sustainable and Environmentally-friendly Cities

2. # Creation of More Jobs

3. % Population Control

4. ¥ Preclude local community in local government

Question Number : 266 Question Id : 60092911633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffed # D19 TeUH0 & el &1 8 HRA BT JHTYH 8l 82
Options :

1. % Ryt 3R gafervr- 3o d el &1 A

2. % AP AIHNAT BT Yo

3. % SEE fRgEm

4. JYH WHR T R GG BT ST HRAT

Question Number : 267 Question Id : 60092911634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following impacts children due to urban issues?
Options :

1. # Overcrowding



2. % Unemployment
3. % Poor public education

4. % Urban crime

Question Number : 267 Question Id : 60092911634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad o 9 &F e Ggi & HRUT S| DI THId Bl 67
Options :

1. % 3ffduRor

2. % SRIARI

3. ¢ RIS eI e

4. % Y& AWRIY

Question Number : 268 Question Id : 60092911635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a characteristic of squatter settlements?
Options :

1. # Physical Characteristics

2. % Operational Characteristics

3. % Social Characteristics

4. % Legal Characteristics

Question Number : 268 Question Id : 60092911635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol § 3 o sy ikl 3 faRivar 78t g2
Options :

1. % Hifqe fa=ivan

2. ¢ R faRedng



3. % g1 foRivang
4. % P ORIYATE

Question Number : 269 Question Id : 60092911636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following device is used for climate research?
Options :

1. ¥ Supercomputer

2. % Mainframe computers

3. % Palmtop

4. # Personal computer

Question Number : 269 Question Id : 60092911636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o 9 ford IUHRUT &1 IUTNT STeary S & fod fvam Sran g2
Options :

1. ¢ UG

2. % HAPHH HYR

3. % UMHCY

4, % YIGHTA JTTUTH

Question Number : 270 Question Id : 60092911637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The tag is used to provide a text to the table so as to explain the contents of the table.
Options :

1. # Comment

2. % Caption

3. #% Paragraph



4. ¥ Body

Question Number : 270 Question Id : 60092911637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T BT ITUNT T B CRe U B & AT foran Sran g arfs eaa &t Al (dhd'c) o1 SaRe &t ST b |
Options :
1. % fewuft
2. ¢ D
3. % 3Jdq
4. % qgt

Question Number : 271 Question Id : 60092911638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What cannot be created with DHTML?

Options :

1. # Animation

2. # Pop-up menus

3. # Inclusion of Web page content from external data sources
4. % Complex coding structure

Question Number : 271 Question Id : 60092911638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DHTML ¥ &1 g1 ST ol Tahell 52

Options :

1. % GO

2. % UI-3/0 O

3. % SEYl SeT Al 9 aF IS AUt (e ) B = BT

4. ¥ DITIH HITST RR




Question Number : 272 Question Id : 60092911639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PARAM 10000 belongs to which generation of computers?
Options :

1. % Second

2. # Third

3. % Fourth

4. ¥ Fifth

Question Number : 272 Question Id : 60092911639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PARAM 10000 f5g $Her TR & Ieifdd 32
Options :

1. % I

2. % R

3. % T

4. ¢ UrEdl

Question Number : 273 Question Id : 60092911640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A relates to specific social expectations within a culture relating to behavior; what is acceptable behavior or not.
Options :

1. % cultural value

2. % cultural norm

3. # cultural role

4. % cultural tradition

Question Number : 273 Question Id : 60092911640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % GRpidd oI

2. ¢ P idd AFGS

3. % GRPpidd YD1

4. % Fplddh TRUR]

Question Number : 274 Question Id : 60092911641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is not a key factor Vitruvius noted related to architecture?
Options :

1. # Firmness

2. % Delight

3. ¥ Commodity

4. ¥ Luxury

Question Number : 274 Question Id : 60092911641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I T IRID N U aifdid URig fagfeud Aeaqul HRe 181 82
Options :

1. #® Sedl

2. % 3fHg

3. % 9]

4. ¥ Tf

Question Number : 275 Question Id : 60092911642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is not a basic human need that architectural design principles needs to consider?
Options :

1. # sustenance

2. # security

3. ¥ repugnance

4, % gself-actualization

Question Number : 275 Question Id : 60092911642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TS AHART SHTaRGHdl 1 el § o IR IRl feolig RIgidl IR fIaR &1 & SHTaRadwdr 82
Options :

1. % QYA

2. % &l

3. ¢ Ufdgaarn

4. % 3MTH-UGEITHUT

Question Number : 276 Question Id : 60092911643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
territory falls to the responsibility and control of nobody, thus the rules and governing principles of these areas are typically absent.
Options :
1. % Government
2. % Private
3. % Group
4. ¥ Vacant

Question Number : 276 Question Id : 60092911643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& it ot foraerY ok gz & e 3T 8, 30 TR 39 &3 & o 3R 2t Rl Smiak W rufya 81a B



Options :
1. % RDOR
2. % it
3. % qg
4. ¢ &

Question Number : 277 Question Id : 60092911644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does metaphor mean in architecture?

Options :

1. ¥ Adapting the concept / working of the natural form in design

2. % Comparison that shows how two things that are not alike in most ways are similar in another important way
3. # Aura around an object generated by the object

4. ® Capability of creating various micro climates

Question Number : 277 Question Id : 60092911644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRgH Al H & 0@ &1 T 34 g2

Options :

1. ¢ T&SIE § Wb U 1 S{TURUN/BTH B 1 UM

2. % g Sl feardt § for ol &1 Aol Sl STeTar il ! & 9H 7161 6, U SR Ag@yU diid & 9HH §
3. % G gRT I aXg &b AR 31R T

4. % fafa g&a Scrary 99 D1 &l

Question Number : 278 Question Id : 60092911645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
relations refers to interacting with the immediate context through visual or spatial connections.
Options :



1. # Positional relations
2. ¥ Atmospherical relations
3. % Metaphorical relations

4. % Disturbed relations

Question Number : 278 Question Id : 60092911645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ey T 1 Wb U S HIEOH J debTel Gatf & Ty 3fa:fepar ) Gefifd e g
Options :
1. * fRydg dey
2. ¢ dgHSHIT Y
3. % TUD Y
4. % 3MTMd JIY

Question Number : 279 Question Id : 60092911646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the drawback of Palm Jumeirah architecture?
Options :

1. # Advanced for the technology

2. % Improves the existing soil quality

3. % Obstructs the natural course of water

4. % Sustainability

Question Number : 279 Question Id : 60092911646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Nt & forw Soa




2. % TIS[Gl Hal &1 Turaxdl # JUR T §
3. ¢ U & U ide UaTe &1 S1ferd vl &
4. % fRRA

Question Number : 280 Question Id : 60092911647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is a series of vertical members used to support wall sheathing called?
Options :

1. # plate

2. # rafter

3. # sheathing

4. ¥ studs

Question Number : 280 Question Id : 60092911647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ara R T qHH FHRA & fore IuanT ford oA aTel daad el &1 $adl Bl T FHel offdl 82

Options :
1. % W
2. % U}
3. % JHIORU
4 ¥ IS
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Number of Questions : 20
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Section Marks : 20
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Question Shuffling Allowed : Yes

Question Number : 281 Question Id : 60092911648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When a feared activity performed by the model is not punished then it is known as
Options :

1. * Creativity

2. * Facilitation

3. % Disinhibition

4. % (QObservation

Question Number : 281 Question Id : 60092911648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TATHSBAT

2. % HfyferesH

3. ¢ feRFfgeRH

4. % AAIH

Question Number : 282 Question Id : 60092911649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the distance between a student’s ability to perform a task under adult guidance and or with peer collaboration and the student’s ability of
solving the problems independently?

Options :

1. # Substantive Transfer

2. % Zone of Proximal Development
3. # Procedural Transfer

4. % Scaffolding

Question Number : 282 Question Id : 60092911649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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BT 3R AT g2

Options :

1. % IRAIdPH IR

2. ¢ Apeadl [Asr &1 &4

3. % YfchaTas RIHIARUI

4. % IHBIET

Question Number : 283 Question Id : 60092911650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



drive results due to the testosterone hormones in males and estrogen hormones in females in differing quantities of every species.
Options :
1. ¥ Sex
2. #% Hunger
3. % Thirst
4. ¥ Aggression

Question Number : 283 Question Id : 60092911650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ By

2. % HY9

3. % qun

4. % HIPTHD I

Question Number : 284 Question Id : 60092911651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of communication has a built-in system of feedback ensuring that further information, clarification are provided whenever possible?
Options :

1. # Institutional Communication

2. # Public Communication

3. ¥ Mass communication

4. ¥ Two-way communication

Question Number : 284 Question Id : 60092911651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % QNI IR

2. % JAod JaR
3. % SMYTUR

4. ¥ G-RBT AR

Question Number : 285 Question Id : 60092911652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which principle of Language Learning requires an initial oral approach with emphasis on audio-lingual skills followed by reading and writing?
Options :

1. # Principle of Graded Patterns

2. # Principle of Basic Sentence

3. % Principle of Speech

4. # Principle of Shaping Responses

Question Number : 285 Question Id : 60092911652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3FAd Yo &1 Rigid

2. % A 91 BT Rigid

3. ¢ dieA &1 Rigid

4. % Yfafrarsfi &1 SMHR ¢ o1 RGid

Question Number : 286 Question Id : 60092911653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Name the method that teaches children to recognise relationships between letters and sounds.
Options :



1. # Alphabetic Method
2. ¥ Phonic Method

3. % Word Method

4. # Sentence Method

Question Number : 286 Question Id : 60092911653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gofaren fafey

2. ¢ TGS fafY

3. ® ¥eg fafy

4. % gy fafg

Question Number : 287 Question Id : 60092911654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is also more or less similar to Sati but it is a mass suicide.
Options :
1. ¥ Jauhar
2. # Saka
3. % Devdasi

4. ®% Sahagaman

Question Number : 287 Question Id : 60092911654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ SeR




2. % ]
3. % gagl
4. % g

Question Number : 288 Question Id : 60092911655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is a personality test measuring two scales "instrumentality" and "expressivity", commonly taken to be masculinity and femininity,
respectively.

Options :

1. % Thematic Apperception Test

2. % Rosarchach Test

3. % Bem Sex Role Inventory (BSRI)

4. ¥ Personal Attributes Questionnaire (PAQ)

Question Number : 288 Question Id : 60092911655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % JAR® MII®HE ¢
2. % JT< Uteror
3. % 97 Y I g4
4.  HfGITTd 0T UHTdT (PAQ)

Question Number : 289 Question Id : 60092911656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the Government of India pass the Dowry Prohibition Act, making dowry demands in wedding arrangements illegal?
Options :

1. % 1981

2. % 1971



3. ¥ 1961
4. % 1991

Question Number : 289 Question Id : 60092911656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1981

2. % 1971

3. ¥ 1961

4, % 1991

Question Number : 290 Question Id : 60092911657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the type of validation that is often used for measuring a psychological characteristic that is assumed to exist by empirical or theoretical
deduction?

Options :

1. % Content Validity

2. % Construct Validity

3. # Concurrent Validity

4. % Criterion-Related Validity

Question Number : 290 Question Id : 60092911657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gyl () duar

2. ¢ fmfor Qear




3. % gHGdl YdT
4. % HHCS-Tafed dyar

Question Number : 291 Question Id : 60092911658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The standard deviation is represented by the Greek letter
Options :

1. ¥ Sigma (o)

2. % Alpha (o)

3. % Delta (A)

4. % Theta (0)

Question Number : 291 Question Id : 60092911658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M foraad &) fie 3ieR GRI SRITT ST B
Options :

1. ¢ R4 (o)

2. % 3l (o)

3. % STl (A)

4. % i (0)

Question Number : 292 Question Id : 60092911659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is used in knowing the highest and the lowest measures of the data?
Options :

1. # Class Interval

2. # Frequency

3. % Standard Deviation



4. ¥ Range

Question Number : 292 Question Id : 60092911659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % DT el

2. % 3Iqf

3. % HH® fa=e

4.« Uit

Question Number : 293 Question Id : 60092911660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following statement and select appropriate options regarding the truthfullness.

Statement I - Dyslexia is a chronic problem with writing.
Statement II - "Dysgraphia" literally means "bad reading".

Options :

1. * Only Statement I is True
2. % Both Statements are True
3. ¥ Both Statements are False
4. % Only Statement II is True

Question Number : 293 Question Id : 60092911660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad &= & ufeu oik Trar & dey # Iuged fasmedl &1 T S|

HY 1 - TS foRa &1 R THRT B |
HY 11 - "feanfthar &1 fege 3 § aRTe us|

Options :




|. % Had HYT 1 II §
2. % S HYTIA G

3. ¢ S HYT A S
4. % HIAPYT 1 II g

Question Number : 294 Question Id : 60092911661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which word among the following means weakness or problems with body movement?
Options :

1. ¥ Mania

2. ¥ Palsy

3. ¥ Hypomania

4. # Phobia

Question Number : 294 Question Id : 60092911661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # 3HIq

2. T

3. % TG (A3

4. % Ifedl

Question Number : 295 Question Id : 60092911662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

are due to genetic or neurobiological factors or injury that alters brain functioning in a manner which affects one or more
processes related to learning.

Options :




1. ¥ Learning Disability
2. # Intellectual Disability
3. % Speech Impairment
4. ¥ Hearing Disability

Question Number : 295 Question Id : 60092911662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ ST faepetivTe
2. % g [
3. % dIdYT

4, % dgUd

Question Number : 296 Question Id : 60092911663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which system in our body controls observations and perceptions?
Options :

1. # Integumentary system

2. % Immune System

3. % Endocrine system

4. ¥ Nervous system

Question Number : 296 Question Id : 60092911663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. % JeTeRull dFf (ST Rie )
2. % GfR& Jomelt

3. % 3{d:Tdq] o

4. ¢ d3®1 A

Question Number : 297 Question Id : 60092911664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the gland that lays at the base of neck in front of the wind pipe.
Options :

1. # Adrenal gland

2. % Pituitary gland

3. ¥ Thyroid glands

4. % Endocrine glands

Question Number : 297 Question Id : 60092911664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3ffdqgadh Ui

2. % U Iy

3.+ 3{ag UfY

4. % 3A:9ra Uiy

Question Number : 298 Question Id : 60092911665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the hormone that causes rapid heartbeat and high blood pressure when secreted in excess and under-secretion results in lethargy and
weakness in body.

Options :
1. # Cortin



2. % Adrenaline
3. # Thyroxin

4. % Follicle - stimulating hormone

Question Number : 298 Question Id : 60092911665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ®IcA

2.« TGl

3. % YRR

4. % i - eI gl

Question Number : 299 Question Id : 60092911666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the drama technique that treats learning as a holistic learning experience without breaking the experience into activities?
Options :

1. ¥ Process-oriented Drama

2. # Linear Drama

3. # System based Approach

4. ¥ (Close-ended Drama

Question Number : 299 Question Id : 60092911666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¢ Uihd1-3H ATlch




2. % IJPH ATcH
3. % TSl MUt IUrTH
4, % FAN USS AlCH

Question Number : 300 Question Id : 60092911667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

While working with students in drama groups we tell the student to focus their attention on the audience, look towards the audience and not on
the floor. Which core technique of linear drama approach is this?

Options :

1. # Storytelling
2. % Sharing

3. # Spotlighting
4. ¥ Side-coaching

Question Number : 300 Question Id : 60092911667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % HYTDINT
2. % YIAT hAl
3. % QI
4. ¢ GI3S-HIfe




